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A.INDIA -Physical Features
@hHWIT - QUINLINUIEL SILDEFMRIGEIT
1

The longest border of India 1s with

@nbSwnellen Heromer erevene QETeRTL HT([H

Bangladesh |
W20 ) € 300

(B) China

Earm
(C) Pakistan
UN&&levds e
(D) Nepal

Crliumend

SYED youtube channel : https://youtube.com/@Syedexamguidance
Telegram channel : https://telegram.me/syedtnpsc

1



https://youtube.com/@Syedexamguidance
https://telegram.me/syedtnpsc
https://youtube.com/@Syedexamguidance
https://telegram.me/syedtnpsc

What is the length of the India’s land frontier?
Adureder flo adbaauder Harb adiasma?
(A) 87263 km

87263 8.6

B) 54560 km
54360 4.5

(/15200 km
15200 4.6

(D) 8000 km
8000 4.5
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The geographical regions of India broadly follow the physical features
which are grouped into following regions :

@pdurellen yell@uwier uEdadr Lurhs erelld Qeraumnd sibshsmerd Carar
@uplude uefearss AanE@sstul BHereren.
(i) Himalaya regions
Eluanu uEdsed
(ii) Indo-Gangetic plain

. #ihg - suas sweuef

(i1i) Peninsular regions
Suspu LgHser

‘(iv) Western Ghats
Cones Aarréflnena

(A) (i), (i1) and (iv) only (B) (1), (i11) and (iv) only
(1), (i) wppw (V) LG (1), (111) wppbd (iv) LB
(i), (ii) and (iii) only (D) (ii), (iii) and (iv) only
(1), (11) whmbd (iii) wLEL .(ii), (1i1) wHpgud (iv) wi GHid
4
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Which of the following statements are true about the location and extent
of India?

. ) .
(i) Indiais divided into almost two equal halves by tropic of cancer.
(1) India is the second largest coun'try of the world in area.
(iii) The latitude and longitudinal extend is nearly thirty degrees.
(iv) The standard meridian of India passes through Bhopal

(A) (i1) and (iii) only
(B) (1), (11) and (iv) only
((, (1) and (ii1) only

D) (i), (iii) and (iv) only
(E) Answer not known

@pHwrellenr @ HULD LD;DQJLD urluerey @HSSIL  Glereaumib an,lj)g}&erﬂm gl

sflwimeng) ?

(1) sLs Crestearme @bHur @raelpE @rm‘n@ &0 u@ﬁammﬁ
Wfssuuc_Rererg). AR S .

(i) upluerelle 2 wdldr GremTeug) Quilu BrE @pHuwr.

(i11) <eie vppb Siss CressErssE @am_Gu_l o 6T @ml_G]maﬂ Al g
@uug il Y.

v) @pdu L SirsaCrens Curumed aufluns sLpg CQadgibd

(A) (i) wpgw (1ii) w Eb
B) (), (ii) wppo> (iv) we G
(©) () oppid (i) v @i
D) (), (i) wppid (iv) v G

5
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Match fh_e following:

(é) Karakoram pass
(b) Zojila pﬁss

(¢) Bamdila pass
(d) Nathula pass

@ ® © @
3 1 4 2

" (B) 4 3 2 1
© 3 4 1 2
D) 2 1 4 3
(E) Answexj not known
QumrrSg)s. -

(a) &myCamyb Sewweumi
(b) Ggraflor samami
() Gumligen sewreumi
(d) mrgier smreumi

@ & © O
A) 3 1 4 2

"® 4 3 2 1
© 3 4 1 2

2 1 4 3
6

L -

e o= B

Himachal Pradesh
Sikkim
Jammu and Kashmir

Arunachal Pradesh

Qunése rGseb
21 %:30)

Qb p-HraigSi
o|(mamrFsANrGesd
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Match List I with List II correctly and select your answer using the
codes given below.

List I List IT

Pass Connecting two places
(a) Niti Pass 1. Kashmir with Kargil
(b) Pensila Pass 2. Uttarkhand with Tibet
(c) Burzail Pass 3. Ladakh with China
(d) Rohtang Pass 4. Lahul with Spiti

@ ®m @©© @

w2 1 3
® 2 3 4
© 2 3 1
@ 2 1 4

(E) Answer not known

(= I - Y -G

uigwe I g ULl g wié IT o con Qurmsd. Cp Qaer@ssiiuBarer GHuSHamand
Qanan(® eSenamwd CoibCs® :

L iguied I ucgwe IT
Semeum) @ran® GLiismer QavansSng
(a) Plig sewraumi
(b) Quenfloom sewreumis

() yrewsé semreumi

sridlQiLem sregdi

HAusg_en 2 Fgraer
L& @GLen Femr

G gy et rarOd

g GOl RS e

(d) Grrapgmmi semreumi
@ ® @© @

A 2 1 3 4
B) 2 3 4 1
©C) 2 3 1 4
D 2 1 4 3
7
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Which of the following statements are correct about Eastern coastal
plain? ‘
(i) It lies between Eastern Ghats and the Arabian Sea.

(1)) The Coastal plain between Mahanadi and Krishna river is known

as the Northern Circars.

(iii) The coastal plain lies between Krishna and Kaveri rivers is called

Coromandal coast.
(A) (), (i1) and (i11) only
(B) (i) and (ii) only
«”’ (i) and (i1i) only
(D) (@) and (111) only

(E) Answer not known

Ayée sLpaamy swee uHH Gereumd aursdunsaie ag sflurang ?

() Ayse sopsor swlae fipse AsTLiEdl LoosEh TAs SLYESGD
@ Cu SiemwHgETeTg).

(i) wspdsEn SAmeasert BHEGL @@LOULLL UGS auLsrbsnt  aen
D P&alILREDG.

(i) Aepeigemrm whmd sreilfl OHOHEG Ger i u@ﬁ G&rrg;)mmn_m .51_,03563)0"
aran senpsalLG DG '

(A (@), (i) wpgd (1i1) weGw
B) ) wppod (i) e

(C) (1) wpmud (111) wCED

D) G) wpgis (i) we b
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The longitude used to determine the standard time of India is

A 376 E

(B) 68°7 E
(C) 97°25'E
(D) 82°30' E

(E) Answer not known
Qrdw S Crriems semsdl LweaBssUU@L SissCraswmans

(A) 37°6' &
(B) 687 &
(C) 97°25' &
d 82° 30" &
e e e
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Sir Creek forms the boundary between and

M Guwarat and Pakistan

(B) Arunachal Pradesh and China
(C) Sikkhim and Nepal

(D) Sikkhim and Bhutan

(E) Answer not known

‘e A& LHOID @eLterear admowrs

Si@wdng).

(A) ©gr$ wpmb urddvgren

(B) <ei@mewnea QgGsed whmib Farm
(C) &b whmb Crumerd

(D) Asdbd wHmb Ly mer

10

Mawsynram, the place which receives highest rainfall in the world is

located in state of India.
(A) Mizoram | (B) Nagaland
(C)  Tripura 3 O Meghalaya

(F) Answer not known

2 @dled ag‘,]as-mémep Qupd @Lwrer ‘Gerdlemymd’ Siawhgerer @bHw wrHed
(A) BCsmywd ‘ (B) praombg
(©) dfygnm (D) Gusmewr -

ST ~ ~ ~ e

11
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Consider the following Statement/s is/are true in respect of Himalayas.

@

The Himadri range consists of many snow capped peaks such as
Nanda Devi, Kamet and Trishul.

(1)) The Himadri range is called as “The abode of snow”.
(A) (@) only (B) (1) only
W Both (i) and (i) (D) None of the above

(E) Answer not known

§Gp  der@ssiul Beter @uwwae OsTLiuTear saDml/SapmIGeT  HmESH D
Cerar® sflwurarems Osfe; Qaus.

@)

(i1)
(A)
©

12

ablorpl Asmgrang pHenGsed, sGwL wHL Hfagod Gurerpn L uef
P Slehiseers Qanam(erars.

ablorpil Ggm_grarg “Leafluflen 2 mpelLib” aerm e pssiiLEADS.
(1) wLEw (B) (ii) wr@w
1), (1) 4w @rer@in (D) GupsafluaupPe ergiab G dame
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Assertion [A] : Himalayas are called young fold mountains.

Reason [R] : It was formed only few million years ago by the

folding of the earth crust due to tectonic activity.
(A) [A]is true [R] is false |
(B) [A] is false [R] is true
6 Both [A] and [R] are true
(D) Both [A] and [R] are false

(E) Answer not known

mpp [A] ¢ @uwwee g @b UL LeRWTED

smpeord [R] @ @Quwoee  fo  Hodudar  garRserseg ararnigre

HelGwCar( Cuilwés allasser argarons 2 maurdws

A) [A] &M, [R] saup

."Bj [A] saum, [R] &M

O (Al [R] o8u granpuw of
D) [Al [R] 8w @ran@w geup

13
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Asthamudi is an important lagoon of the coast.
(Ayﬁalabar coast (B) Konkan coast |
(C) Cholamandel coast | - (D) Northern circar coast
(E) Answer not known |

SIGVST(PlG GTETD (PSEW STLIeD ‘ : — sLpamruiler srerTiIL(Hlenmg.
(A)  wveuntsLpHear (B) Qariisnair El_g')esém;r

(C) Gsmpuwean o s psoy ‘ (D) eausisnt s_pasemry

14

Where Lahaul and Spiti are located in Himalayas?
@uwwmaulld orahd wHmb Gy arlsg Bmwbgerarg ?

(A) Sikkim Himalayas ) Himachal Himalayas
A& @wwiene @ wrEFd @LWILMm®
(C) Kashmir Himalayas (D) Assam Himalayas
&meigSi @)W SIGLELTLD (@) LOWILDENE
15,\ W oo i Soozmt Wem vETmme

North-West of Udaipur the Aravalli hills are called as
2 sy fen e CunGs preude wamaseT Gaeumy H@PsESLLHEDS.

& Jarga Hills (B) Kaimur Hills
QTS LOENVSET STWIEPIT LOMESHET

(C) Khasi Hills (D) Baba-Budan Hills
&8l L &ET UTUT-L|S6H LDENEVEET

B.Monsoon, rainfall, weather and climate
LI(H6ULD6EMLD, LD6MLD, QUMEsilémev LDMHMILD &TevHleme

1
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How is the Climate of India called?
@nHwu sreblene ereucuTm BMWssLILIRSETDS) ?

(A) Arid Climate (B) Sub Polar Climate
cupaRTL. S blena SIMERT Fi(Hou sTHlarew
) Sub Tropical Climate (D) Temperate Climate
ST WAL STblena WsQeutiu wer e sreblane
2

Assertion (A) : The Arabian Sea branch of South West monsoon gives
heavy rainfall to the West Coast of India.

Reason (R) : It is located in the windward side of the West ernghats.
(A) (A) is true but (R) is false '
(B) (A) is false, (R) is true _

Both (A) and (R) are true; and (R) is the correct explanation of (A)
(D) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(E) Answer not known

gapml (A) : QsaGuhE umas srpler  ndssLd  Samerulammd
@pdureien  CuopE & Corr ugdsar <ifls wapew
Qumdlenmen. ' |

sryemd (R) : @bs usdsdar Gope Qg isd wewsefdar smhp efed

Slensuler SenBGIaTETET.
A) (A) aerug oM gamred (R) erarug seum
B) (A) earug saum, (R) eramug &
©) (A) wpgw R) @ranEw &M sryamd (R) sabpo (A) 8 MersGH DS

D) (A wogw (R) @rar@iod s sryamd (R) sppssnar (A) efwrar eerdsid
)] o
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Ozone layer concentrates mainly above 10 to 15 km from the earth’s
surface. This layer is known as

@Csnen 2AGSEG WiHwwrsl Yululer Copurnde @amphg 10 wped 15 &.08.53
G @ellbgiererg. siger Guwim eremes ?

(A) Troposphere (Bmatosphere
CCrrGuimev Qwirr Gy GLmaviGusrr
(C) Mesosphere (D) Ionosphere
BCemeivQuurr SwGermevQwr
4

The first Meterological Director General of India was
@iHwrelen oo euraflene @wid@bir Qsarye

(A) V.P. Subramanyam
9.9, sUigwentlwb
(B) R.L. Singh
9} iT.6Te0. Sy
(C) K.L.Rao

Cs.e1éb. ey

\n‘f H.E. Bland Ford
ané.rr. \errer(H «-Cumi(h)

TN « 1
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In which season Jet Stream Influences in the Indian monsoon
Qmr  smpCpriin  @pHwu  umen asrphld  aps uBUsHL sTEsE®S
FHLOSSEDS ?
(A) South — West monsoon
Qgen — Guh@ LmeuSTHO)
) Summer and Winter season
CasrerL wHMID GeTiTETOD

(C) Retreating monsoon
eranen_6| LI(THeuSTeLD

(D) Rainy season
LD &MeuLD

TN A o 1

The rains caused by thunderstorms is called as ‘Cherry Blossoms’ in the
state of

‘Qeirfl LieTrgwen’ eTemm SMPESEEFIgW BiguL e Falgw we Qumb wrhleon

(A) Kerala { Karnataka
Cayerm SABTL_&T

(C) TamilNadu (D) Andhra Pradesh
s0HHETEH BTN LY:AT) D (€5 3T

7
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The ocean is the youngest ocean
(A) Indian

W Southern

(C) Arctic

(D) Atlantic

(E) Answer not known

@aerw Gu@mrisL e erariu@b CumhisL e
A) @pdwl QuEBpkRSL®

(B) Qe QuprsLe

(C) <yigs QuEpRsE

D) silerargs QuEpks_e®
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Choose the right answer :
The North-East monsoon period in Tamil Nadu

(A) August — October
(B) September - November
d October — December

(D) November - March

(E) Answer not known

sflwrer allenLanws CaihlgH S
SOIDHTL g6 UL lps&@l ume weap umfluyb wrshiger

(A) ,gg,assi’u@ — &CLmur
(B) QsuLwur - peubur
(C) =&CGLmuir - webur
(D) meubur — TTE

9

The tropical cyclone winds blow into the Northern Hemisphere in

direction. ,
(A) Clockwise ~ (B) Straight
(CVAnticlockwise " (D) Circular

(E) Answer not known

L& iesCararse ghuGb eaefluam o Coa@sd sphid apg Haosule sTHp
SPGID . |

(A)  sysnys sHmy - - | (B) Gryns

(C) aBisysnys sy D) euiions
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10

Land and Sea breézeé and trade wmds are formed dué to
m Convectwn o | ) "
'(B) Heat conductlon
©) Heat-r_adla_tmn |
'(D). Scattéring

(E) Answer not known |
Hlow Logjgul.o S a;rr;_n@l LD!DQ]LD aSlu.lrrurr;r a;rrmg @gwrreo L@mrnﬂg)g
(A) G\m uu&amcmn

(B) Glsuuua LSS
©) Gleuuu s;@rreﬁ&a;

D) éﬂﬁmw

C.Water resources—Rivers -DAMS
B QSMTRIGET - 4 MISH6IT - SIETICTII& 61T
1

Which river is called the sorrow of Bihar?
Samfler gumd eranm eP&sULIpD Spn 6Tg) ?

Kosi (B) Sharavati

Cané gmyreud)
(C) Narmada (D) Tapt1

BDGT susl
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Telegram channel : https://telegram.me/syedtnpsc

19


https://youtube.com/@Syedexamguidance
https://telegram.me/syedtnpsc

. is the largest salt water lake in India.
@pdwrellen WsHGQUAW o Liy ¢

(A) Renuka lake (B) Sambhar lake
Cramiam el gmurr ¢
(C) Pulicat lake @ Chilka lake
Hel&mL erifl fHeosm g
3

.. Kalibangan is situated on the banks of River
sraiuBser ahs hohisaruis emwbsierers) ?

(A) Rawvi (B) Sutlej
el Floom
(C) Beas G)Yﬁlaggar
Swimei STSIT
4
. In India, ——— is located at the confluence of river Ganga and
Yamuna
@pdHuneller smemaswyb, wpmanyb FwmAWILSHH —— SimHgeTeTg)
5 Allahabad (B) Uttar Pradesh
DIVETUMS 2 587 9gCsewnd
(C) Aurangabad (D) Punjab
QY TRISTUTS LI@h&TL
5
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. Narmada Rift valley River in India forms

@pHwreler Gerey LETaTSETESTET BTOST B 2 (HEUTEH@GLD.
(A) Delta
SPWPSLD
(B) Estuaries
WP&SGHIGUMTLD
&« Waterfalls
Bireipas

(D) Cascades
Qsriu imeilser

The River that flows Westwards through a Rift Valley between the
Vindhyan Range on the North and Satpura Range on the South is

auLsfleé o dter elfHwen wenasAgTLir wHob GgHE sT LT LOVSESTL(HESGD
@e Cu Qeegyid Gerey udtatsgsrésdld CuopGs Crrsd umb <m

(A) Chambal ' (B) Betwa
SmibLIED G Reur
Narmada (D) Son
BrDST Gagmesr

Which river in the southern peninsula has the second largest basin
covering 10% of the area of India?

@idwreiler Agn@ Suspu LGHWD edrear 10 sseSsl UTLLTaMa 2 draTLGEW,
QremLreug Quflu uGesmws QsrarL B erg ?

d Godavari (B) Ganga
Cangmreurl SRIGT

(C) Narmada (D) Cauvery
BTG sl

8
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Which state is not the beneficiary of Sardar Sarover Project?
(A) Madhya Pradesh

(B) Maharashtra

((f Punjab

(D) Rajasthan

(E) Answer not known

arg siigni sGrreui L sHAmbg LwateL Wb wIHlob e ?
(A) wsHwi GrCsed

(B)  waryreiyqym

©) ugpemu

D) @orgevgmen

Which is the longest, the west flowing rivers of India?
(A) Tapti

W Narmada

(C) Mahanadi

(D) Ganga
| (E) Answer not known

Gipureiler Cuope Coréd urub ypseaio Serorer @um eg 2
@A) sud

(B) pives

(C) wsmpd

(D) swmeas

\I
10
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Which river is known as Tsangpo in Tibet?
(A) Damodar | (B) Manas
(ﬁ’ Brahmaputra (D) Mahananda
(E) Answer not known

HOusHe eraGur remmenipss LG B srg,j?
(A) srCuorsir (B) oremev
(&) LIRS (D) wapmpHsT

11

. The length of the Son River is
‘g’ gpifler Harid

(A) 843 Km (33/784 Km
843 #.8 784 £..8
(C) 719 Km (D) 900 Km
719 4.8 900 £..8
(E) Answer not known
eflen GsMwelldwene
12

SYED youtube channel : https://youtube.com/@Syedexamguidance
Telegram channel : https://telegram.me/syedtnpsc

23


https://youtube.com/@Syedexamguidance
https://telegram.me/syedtnpsc

Which out of the following is a west flowing river in India?
(A) Mahanadhi (B) Krishna
M Narmadha (D) Godavari

(E) Answer not known

Gleireumeuareupdler @idwnelar CuopE Crrad Lmyb B g ?

A) wsrpd (B) fmeyemrm
(C) priwgn (D) Garsreuf
13
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- The largest lagoon lake in India 1s

(A)
(B)
(€)
(D)
(E)

Pulicat lake
Kolleru lake
Narayan Sarovar lake

Chilka lake

Answer not known

@pHwreler srerriiu@n WeslQuflw 2 Lukis ofl

A) uyCaupsrh g
(B) QasreQem afl

(C) prymwer sGrmeur el

m Sevam ol
14
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Sardar Sarover project is built across ' river.
(A) Krishna

w Narmada

(C) Mahanadi
(D) Sutlej
(E) Answer not known

s HHdlen GnECs sigmt sGrreum S L b emwbHgeTaTs ?

(A) AHmeigenrm
(B) g
(C) m&npgl |
(D) sLog

15

“Chinese water bomb” plan (dam) constructed across this river will put
India at risk

(A) _Indusriver (B) Yangtse river
’ Brahmaputra river (D) Hwang-Ho river
(E) Answer not known ' ' | _
“Ean ﬁn‘ (CLCHN LI E T L)) @(r_r,(r_r;gluﬂlm Bgl SLLOUBeISTED, ‘@‘r_ﬁﬁu_msu&.@
LSS 2 @ILTEGLD

A) Apg pd | - B) wmied pH |
(©) GpowusrTed D) av~aur Gavr pd
6 | |
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Which of the following rivers flows in the Kashmir Valley?
Geeu(meuaaumdieh STagdT LIGTETSSTEHED LMD M 6T ?

Jhelum (B) Chenab

e e
(C) Rawi (D) Sindh

e g

17

. What is the per caplta avallablhty of water in India on 201 1‘?

M 1545 cubic metres

1515 cubic metres
'(.C). 1673 cublc metres
(D) 1860 cublc metres
(E) Answer not known |
2011-e BpHureiled gaﬂ puqr;asg& qﬂam_gg. Etﬂw DTy GTEmET? .
(A) 1545 gar BULit
" (B) 1515 sar BiLi
(©) 1673senBroii
(D) 1860 sar S

18
The River that does not originate in India.
20 @pdwrelld 2 (meumeang @dang.
(A) Beas (B)é::lej
Slwimeiv s qush
(C) Chenab (D) Ravi
QlFermL 769
19
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. Gilgit tunnel is formed by the action of which of the following rivers? " -

(A) Ganges
®WvThdus

© Bfahmaputra

(D) Narmada

(E) Answer not known

SOdl wews GaLey Yereumn plaefler eraupdlar Qewcaarmd &@G]JIT&SG‘:I'JLII'_I_Q]-
) e - } ¥
(B)  Apg

(©) QmbwysdHyr

D) ‘mﬁmgﬁ |

20

21

Ganga River’s right bank tributary is
(A) Ramganga (B) Manas
(C) Kosi | ﬁrYamuna

(E) Answer not known
shis pHulear cuag smruier gemem b

(A) g smsT | (B) wermev
(C) Gsnél D) wwerm
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Match the following rivers with their tributaries :

(a) Indus River 1. Gomti
(b) Ganga River 2. Indravati
(¢) Brahmaputra River 3. Chenab
(d) Godavari River 4. Subansiri

@ ® ©© @
A 3 1 2 4
B) 2 4 3 i
{2 4 1 3
D 4 2 3 1
-(E) Answer not known
EpssaTL QNIS®ET Di6uDDIGT S)6naRTIITDIS @6 Qummssayb :

(b) sues B 2. @pdyraud
(¢) Qgwwysdrr pS 3. &auy
(d) Gsrgreuf pd 4. sueng
@ M) (o (d)
A) 3 1 2 4
(B) 2 4 3 i
©) 2 4 1 3
™4 2 3 1
22
Gersoppa waterfall is located in river.
QgirGsriun BieSipFs iemwhgemer B
(A) Tapti (B) Narmada
sud BTDGT
((Sharavati (D) Periyar
gymeud) Quiflwm
23
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Chambal river is a tributary of

gmbUG B &1 glenamt HHWIMEGLD.

(A) Ganga l{Yamuna
SmIGIT wi(LpesTtm

(C) Indus (D) Brahmaputra
g Gybwygym

24

Which is longest peninsular river?
(A) Mahanadi -
(B)\/ﬁodavari

(C) Krishna -

(D) Narmada

(E) Answer not known_

Suspu @;bﬁlu_lrreﬁlw Ly B gsafmwm'cgm Grg;l?l_
‘_(A) Lm'.srr;r,'sl | ' o '
(B) .Gasrrgrrmrﬂ

(©  Apegenr

(D) piwgr

D.Soil, Minerals
LD6D0T, SH60TILDMIG 6T
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i8. Soil with high moisture retention capacity is
<fls mruussfaas 5565 @eus@b dner QaraET . wer
(A) Red soil
Heuliy et
(B}/E{.egur soil
Qe e
(C) Lateritic soil
GCar 1 flig& nedmr

(D) Bhangar soil

LIMMRIGIT (D&

Cotton cultivation predominates in Regur Region of North West India.
The Narmada, Tapi, Purna and Sabarmati River Valley region are
basically heartland of cotton cultivation. It always associated with one
food grain cultivation refereably jowar, Bajra and oil seeds.

Which one of the following is best implied in the passage?

QL Gmm@ @lnjglu_msﬁ]m Arat uGSule u@gﬁ! FMGLIY e O& ggjé]mg].
BD&T g,rrlfﬁ H,rmm‘rrr FUITLD %gj)g)ju ummg,g,rra;@a;m u@g rr@‘,uu} 6T emLDwIty

L&, a;ranrr@.n Qg Gumburgib gCsaib @@ 2yl LGS Gaamunss

&rr@utq. G‘&par@jﬂmmmmu Qumélpg. weu werpGw Cgmeufr, UGTT WHHID
ererrQenTs Gilsg1HE6T

Gemeumeuareupdled erg Apuunss GOlub UL Hiaterg) ?
) Black Soil is favour for cotton cultivation
MmUY e LhsE cllenerdsg)s@ ahmg
(B) Cotton is the commerical crop
umsSS @@ euranflutiuugT
(C) Cotton cultivation mostly in North West India
umsd Qum@mburgib e CuhE @bdwretld vl uu@dng
(D) Cotton always associated with food grain
umsE Quapbureid gCsaud @@ 2-amalt LWINRsWSE QaaTwnearg)
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The soil is internationally known as tropical chernozems: are

the third longest soil group in India.

sreuCse jeraliler Qeuliu e e QFTCarnsd eTemm DWPSSIULE Salgll DT
, @aeu @BHwmalle epammreug WaLEUTW W GUaeus FTTHSS.

(A) Desert soil (B) Alluvial soil
LITENGDELIEIT LD 6ot GUGHTL_6) LDGHT

(C) Red soil (D)¥Black soil
SeuliLy e S(HLIL| DG

Alluygial soil is rich in

( Humus, Phosphoric acid, Lime and Organic matter

(B) Iron, Lime, Calcmm Potash Aluminium and Magnesmm
Carbonates

(C) Ironand Aluminium

(D) Highly Saline and rich in organic matter

(E) Answer not known

GUGHITL_60 LDEsT ' eLpeILD mmmrrargrrai s_aherrg

-

(A) wséuw, umevufé e, samarrmby, &MwLQUTHET

B @Qowy semewmby, srofwbd, GuTiLredluib, agaﬁlaﬂmm mmgu.b
waafaflwb sriuGer

©) @mbvy wppid Sigilefuid

(D) L&@'pg &qusge&rmm wHpb s asrﬂwu@urr(r_r,ma;m'

SYED youtube channel : https://youtube.com/@Syedexamguidance
Telegram channel : https://telegram.me/syedtnpsc

32


https://youtube.com/@Syedexamguidance
https://telegram.me/syedtnpsc

Cotton cultivation predominates in Regur Region of North West India.
The Narmada, Tapi, Purna and Sabarmati River Valley region are
basically heartland of cotton cultivation. It always associated with one
food grain cultivation refereably jowar, Bajra and oil seeds.

Which one of the following is best implied in the passage?

QL Gmm@ @lnjﬁu_msﬁ]m Arat uGSule u@g@ FMGLIY Béaid G @élm@
‘r_r;rru: g,rrlfﬁ H,rrm‘rrr UMD %gj)g)ju umm;sg,rra;@a;m u@g &rr@_‘,uu} GMLDILILY

L&, a;enrr@.n Qg GQumburib gGsaib @@ eyl LWIHEE @maﬂum&

&rr@uu;. G‘%pssr@jﬁ]mmsmmu Qumélpg. weu werpGw Cgmeufr, UGTT WHHID
ererrQenTs Gilsg1HE6T

Gemeumeuareupdled erg Apuunss GOlub UL Hiaterg) ?
) Black Soil is favour for cotton cultivation
MmUY e LhsE cllenerdsg)s@ ahmg

(B) Cotton is the commerical crop
umsSS @@ euranflutiuugT

(C) Cotton cultivation mostly in North West India
umsSS Qu@burgb eu CuhEg @bdwureild LWfLuu®@ng

(D) Cotton always associated with food grain
umsE Quapbureid gCsaud @@ 2-amalt LWINRsWSE QaaTwnearg)

6

Which among the following is known for the high quality of lignite?
&CQ QarhssLulpeararauaraupmier srlés Heossh aar HPluBILGeug 618 ?

(A) Bituminous (B) Lignite
yansilg Hlessl uuy Hess
) Anthracite (D) Beat
Slared 0@ Hlassl SC
- Chhattisgarh and the Bastar region are all the major fields
of India.
@pHwureier FhSevat wHMID e UMST LGS 2 etem pslw
L0 MIGSHET D &HLD.
{ﬁr Iron ore
@by srgl
(B) Manganese ore
WIhGs S1g)

(C) Copper ore
Qsiy g
(D) Bauxite ore
| UTGEengL Fg

7
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Which type of Iron ore is called oxide of iron?
ThS euend @(HL NG, @Y AsMFH TaT AMPESLILHEDG ?

6 Haematite

Camwe L

(B) Magnetite

CusarenL_L_

(C) Limonite
Olwene_

(D) Siderite
Slenyl
8

44. The mineral_having tr_ansparency; and hardness.
(A) Gold (B) Silver
(C) Copper A @& Diamond
(E) Answer not known

gafl 2a@(Heussniy WD LHNID Sassetmoub Qarar saflwib

(A). smsbd (B) Qeusref
(C) Qewy ; | (D) eveunpd
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Chhota Nagpur plateau is called the heart of industrial India, because
it 18
Cemiinr  mrégt Syl @idwrsildr  Gamfagenn  @swib erenm
SenpssILfdDg. elaaila g
(A) Near to major iron and steel centers
PSHEIL @UFIDLY, 6Taars @IDLILIGEREE, SihHld o drers
(B) A big link of roads and railways
greneae wHoibn TuildGeuuldlen AU @eaveriiyy
(C)/Rich in minerals and power fuels
saflmisar omb b efdunmeassr Slenpbasrans
(D) Very fertile for industrial crops
Aemflogienn LulisErdeE Waeb euernreg

Fn

E.Forest &m(h
1

Of the total forest area of the country, how many percentage the
protected forest occupy? :

priger Qurgs eatiu@Hulld, UTFETESHULL STHEET TsFMa FFISSDS
< 5S T Sg cTeTe.

(A) 25% {) 29%

©) 35% D) 39%
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Largest mangrove forest region found in India is at
@pduraler WsuQuiw sguy flossmhger sramuuiBb uEGSHurarg
6 Sundarbans

&HSTEUTEST(H &H6T

(B) Pichavaram
Y&greurd

(C) Godavari — Krishna Mangrove
Camgreufl &meigemtm sgLiy Hlewd
(D) Baratang island
urpLi Sy

3

. In which state Bandipur Tiger reserve Located in India?
ubSluyi yellser sremmeowd @bHwureiler arbs wrhlasHe mwbgeaTarg ?

(A) Andhra Pradesh
by GrCgew

ﬁ Karnataka

SABILG
(C) Kerala
Gayerm
(D) Tamil Nadu
sl B
4
Rosewood grows in forests.
Grmeve| cueTr&gnlgwl Sm(HgeT
(A) Monsoon forests ()Evergreen forests
U(HeUSTe &M(h&eT UGenOWTDTSE &ST(h&eT
(C) Alpine forests (D) Tidal forests
LML ST(HSET @55 SN(H&eT
5
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In India, large extent of Alpine forests are found in
(A) Deccan plateau | -
B) Ganges delta |

(C)Vﬁ%tstem Hlmalayas

(D) Eastern Ghats

(E) Answer not known

@g_sglu_lrraﬁleo GTHSLI U@@uﬁlm &ma)um a;rr@asm GU@mmeﬁlm @@5&1@9@1?
(A 5&565[[6&“ ﬁi_H,uSl VA S
;(B) SRS Gleom Lo

©) Hipss@uuves

(D) é]%p&@,i; ngQﬁM LODSET

The year in which wild life protection act was enacted in India.
Qpdwmelleh euarefevnii@ LNFSTUILEF FLLb QubHDULL L e
(A) 1975 (B) 1872

1972 , (D) 1982

Which among this is defined as the forestry of the people, for the people
and by the people?

@b eHs smH Loasa;aﬂ@mt_u.l W&ESERESNS LDJ_!)Q]LD LD&SETTED qr;bu@lg;guuu_
QUaTD ereftm euenuMISSULI(BeUS ?

(A) Community forestry KSocial forestry
FUPSTWSE ST(HSET F0p&& SM(HGET
(C) Agro-forestry (D) Commercial forestry
Geuenanm sm(h&eT cuenflas sThHEET
8
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). The proportion of world total forest area occupied by the developing
countries is

GUET(HID BrReanme bl ybldaiiu’ L o ewdlda Cinnkst sr@Esefdr oz
(A) 57.4%
BV 54.7%
(C) 55.7%
(D) 57.5%

Which type of climate is having the following characteristics?
erhseuans smwblene Geteum Lam gamars Qaram(heaTarg ?
(i) Mean annual temperature is above 18°C.
<a@r® srrsf Qeutiuflee 18°C &g Gue
(11) Seasonal Rainfall in Summer).
umeusTe wenlp (Caranl sragsld)
(u1) Stretches over the rain shadow region.
LOEPLOMDE| LGS0 HenwbEIeTeng).
(A)/Semi Arid Steppe Climate
Blgeupam.. e Gbeall sreflena
(B) Hot desert climate
DI WLIGTOERTL @ LITeaeuans srablane

10
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Match the following Acts with its corresponding years :

() Madras Wild Elephants 1. 1882

Preservation Act
() Tamil Nadu Forest Act 2. 1980
(c) Forest Conservation Act 3. 1972
(@ Wildlife Protection Act -~ 4. 1873

@ ® © @
@ 1 4 3
evf 1 2
© 2 . 38 1
D 3 2 4

(E)_ Answer not known

N A

et (mpLd &LL@&G&)@T&;@;@@W@ CAgmmyeniw garhaCearm(h Qurhsss.

(8) wgymed auen wenansar LngsTOLE s - 1 1882
() HBPPTE aions s Lib 2. 1980
(€) ouan LTgETILE gL 11D . 3. : 1972
(d) euar emeurm@a;m LITgETUILE 3.'_._Lb 4. 1873

@ O © @
a1 4 3 2
® 4 1 2 3
© 2 3 1 4
D) 3 2 4

‘lelegram channel : https:/telegram.me/syedtnpsc
39


https://youtube.com/@Syedexamguidance
https://telegram.me/syedtnpsc

11

Wildlife Protection Act was enacted in the year
(A) 1974 (B) 1980

1972 (D) 2002
(E) Answer not known

auaTedlei§&eT UTHSTULE FLLLD Qubppuiui L e

(A) 1974 (B) 1980
(C) 1972 ' (D) 2002
12
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- Which of the following is correctly paired?

Biosphere Reserves - . State
(A) Manas | = . Gujarat
Simlipal - Odisha
(C) Sundarbans | — Assam
(D) Kachch g - West Bengal

(E) Answer not known

Spsaar_eupde sflwurs Qurmbd 2 erers erg)?

2 WrCamer STLILGEIGET wmrflewd
(A) wremmen = GSRTTS
(B) Aweluréd - R4 &M
(C) smsTeuaDd _ - S|FMD
D) sLs - Guod @euniisd

13
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Match the following :

(a) Tropical Evergreen
(b) Troia_ical Deciduous

(c) Semi desert

(d) Mangrove

@ o
of 3 4
B) 4 3
©€ 2- 1
@ 4 - 2

(c)

1
2
3

3 .

(d)

2
1
4
1

(E) Answer nof known

ﬁls&rm@ajwmmmmu Qurmsgs.
(a) SwervaET_® LSFMWLLIYTE a;rr@&sir

(b) wenver_e @mwm@:’r& SrH&er

(€) eupamL. LUTEEUGTEIGET

(d) ssuyPfes sr@ser

@ ®. © @

Q) 3 4
B 4 3
© 2 1
D 4 2
14

1
2
3
3

2
1
4
1

o 00 B e

‘Thorny Bushes
Tidal Forests
~ Tropical Rain Forest .

Monsoon forest

WPLySrser 4
- @5& sThHser -

1
2

8. SweT DRTL® s ETHST
4

UGSETIDIE STOSET
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forests are degradable, unproductive and unprofitable.
ErfleyemLwg, LwaTHNF WLOHMID OTULHDSOTET &T([H&ET

(A) Reserved (B) Protected
RESFUULL G UMGSTSSUUL L G)
Unclassified (D) Classified
ueNsLILHSHUIUL TS auesUUhSSUULL G

Pl AN Koo assiman sl T wews as

15

5. The forest is essential for physmal and cl1mat1c needs

M Protected Forest

- (B) Natlonal Forest

(C) . Village Forest

(D) Tree Lands |
- (E) Answer not known

Guenﬁa; Log)gmo mrmﬁmm Ggmm&;@&@ élgﬁllJll’G}Jé]u.lLDﬂ'ﬂiT asrr@a;en'_ N

| (A) UTgIsTéEsLILLL ST |

‘(B) (Bg,ﬂu_l sTH

©) eﬂlj_rn.o ENCE
- (D) 1oy flemkiser

16
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The evergreen forests are found in the state of
(A) Arunachal Pradesh
(B) Odissa
(C) West Bengal
(D) Andhra Pradesh
(E) Answer not known
LU&EWLOTDHTE STHSET STenrliLi(hib wrhlebd
A Simemrrésel 9rGsan
(B)  guer
(C) Cube eurismard
D) <ypdrs ArCssid
(B) ofen Qsfwedcana :

F.Agriculture N6U&TILILD
1

What is the “App” used for the agriculturist to disseminating
technological information?

Gemflanliu seaudsaer LT ausHE alasmufss LwearufEd uweaur (&l
Wi ?

(A) Kavalan (B)’{Tzhavan
SITeuQuelt 2. Lpeusim
(C) Farmer (D) Vellalar
ahleusmull Geugmmant
Fa nit N AT AR b e
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31. Green Revolution has been most successful in which of following pairs of
crops?

usenoyrs ehg Lulitsaiidar Gomgulla Wsayn Qeabmdlanons EuduLg?

(A)
(B)
(©)
(D)

Fa o i

3

Wheat and Rice

CGangienn whpib M4

Wheat and Oil seeds

Gangiens whmib eremGanmis g see
Sugarcane and cotton

S(HOY wHmd UmEEl

Wheat and pulses

Camgienn whmib kLY cuamssdr

India is the largest producer of Coffee globaily.
(A) 2nd

(B) 4th

&

(D) 9t

(E) Answer not known

2 05 &Ml 2 pusHuler @ibHwm 2eug QL sms cuflaESng.

A 2
(B) 4
© 7
D) 9
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‘Promoting soil health’ and ‘making rainwater h_aﬁ_resting .compulsory’ —
These statements relates to

(A) Green revolution - (B) Blue revolution
(C ' vergreén revolution @ (D) Yellow revolution
(E) Answer not known '
‘oarages CobLAEHES’ RN ‘et Cssfitou sl LTLULGEEEY — @
S HmiLer AFML e wig) - ’
(&) useoiypd - (B) ety ,
h (C) useLwLITes L4 _ (D) wepser Yy & |

5
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How the chemical fertilizers can be avoided in agriculture?
I. Drip irrigation
II. Cultivation of oil seeds

_III. Cultivation of cereals

IV. Bio-fertilisers

(C) II and III
D) All of the above

(E) Answer not known

Geuarmamenoudled ereucurm Coudl 2 grisemer seiliésamd ?

I. Qeni@® Bicursand
II. crawQemris Q&g am@LIg
ITII. Ay grfaaﬂu.n FTELIIg

IV. 297 o rruser

(A) TIII wpmn IV
(B)_ IV e @
(C) II wopmw III

(D) -Gm,ﬂ)&xﬂmmw S EDETSF|LD
6
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Which of the follbwir_xg is not a"C_ash_ Crop? .
(A) -Sugarcane. . | - .
(BynCoffee

‘.(C) Tobacco

(D) rCotton

(E) Answer not known {.

&apésa;s&wrl_shg'jgdr ergy) LemtUiLulli ac’ué)? B

(A)  smby
B) &9
© yosdos
D) umsd -
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The main objective of second Green Revolution
‘(A)  To raise the agricultural productlwty to promote food securlty
(B) To promote substainable agriculture
(C) _ To.increase the per capita income of farmers
All the above '
(E) Answer not known
@rerLraug) Lsaw Ly Huler apsdlu Cprésh
(A) eameys urr@a;rruanu Gmwu@ggmgm&;rr& Aeusru 2 HusHs @ma)w

 cwipgas
(B) feewra clausrugms wau@ggjmg,ma;m

(O eleusmlsaien salpur auBLTRISMS ag‘]mﬂm
(D) Gmma'ugﬁlu_l awmggm

G.Transport GLIT&GUTHG)
1
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The four segment of the golden quadnlateral join the following CltleS
(1) Delhi — Mumbai

2): .Mumbal - Ch_ennéi |

(3 Chennai - Kolkata

(4) Kolkata - Delhi

Conmder the length of the above segments in descending order ‘and
select the correct answer using the code glven below

WvB), @, (), @
® O, @, @,0
© 4,3,@,1
D) (@), (3), (1), )
(E) Answer not known

ShiE BTHST sTerEafdr Bren Gfleysar _égpalssim__ B TaIsaT oeansdpg : |
(1) . QLéed — apibeus o | P |
[¥)) - Q_pras)tJ Z Gloverien :

3) Q&éinmw - Qsrsssn

(@) QarasgsT - AL

GG o erer @Rasafar ;Smgwg @piE aufmsudie 5@5@&) Qasrrsa‘ﬂ@ %Gg;)
Gl&rr@asasuul__@mm SO e uws&ru@ﬁ@ sflwimer u@mw Ggrr;a@g@asa;mm

@ 3.@,.10,©@
B) (3), @, @), 1)
© @,3,0,©0
D) ), (3), (1), @

2
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Choose the correct pairs :
J aynagar — Kurtha railway line were signed between which two sides
L. India — China | |
II. India - Srilanka
III. India — Nepal
(A) Ionly

- II only
-@’ IIT only
(D) IandII
(E) Answer not known

silwrenr Lflena G§ﬁa4 Qewweyb :

Agupst — Gisr e urms aps Yo prHsEsss oL Cu wsduwssreasg
I  @sfur— & |

II. @pdwr - Qories

III. @sduwr - Gpumer

A IwrEo

(B) II wr@w

(C) TIII v o

@) I wpgo I
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"Which one of the followmg is the second largest port in Indla?

(A) Mumbai

(B) Mangalore

(C)Vﬁhennal , :

D) Cochin | | . L g

(E) Answer not known

Lﬂsurm@mwm e @p@mmﬁlm @l;rawrl_rreu@ Quiiu EIDDPSLD Grgﬂ? '

A) e
(B)  wasEnT
(C) Qsenenenr
D) Qsrsd

4

i. The headquarters of Central Inland Water transport corporation limited
1s located in

LD;'!’;Q@U.J_ IEL@'FT{EHI'_@ B Curdmeurdgs SUSHHIET  SED@ENDILISD  6IhiE
D|ER LS GTET S 7

(A) New Delhi
Lz Gl

(B)/Kolkata

Clareasan
(C) Noida

GBmaT

(D) Guwahati
Ha|ETES)

The Airport Authority of India (AAI) constituted on
@bHu wrer Haewnseaiar gmearun (AAL) auCung iewwsstiuLg?

(A) 1st April 1965 (B) 1st April 1975
1 gurge 1965 1 gurge 1975

(C) 1st April 1985 ‘6 1st April 1995
1 gurge 1985 1 guged 1995

6
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The Airport Authority of India (AAI) has a Civil Aviation Training
college at

(A) Delhi &7 Allahabad
(C) Bangaluru (D) Kolkatta
(E) Answer not known

@pAw efrear Fleow HaE@TUD FPSTL &M Awrer LWHHE soenfl ermis,
<MD HGIETETSI ?
(A) QrLeved (B) @wstuns

(C) QunusenT (D) Qsmevassm
7

In which year, Inland Water ways authorlty Was setup in India?
(A) 1985 R S . |
Bvfoss

(C) 1987

(D) 1988 |

(E) Answer not known ' o

| @;‘r’;@mnsﬁlsﬁ): __ aman@ ﬁnm@u@um@muﬁg :%G{DGEBTLLILD - abs <y

Gg,rn__rmsuuu_g]? )

(A) 1985
(®) 1986

(C) 1987

D) 1988
o
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National Waterway 1(NW1) connects the cities of and

Weareumauaraupes Csflw  Hieud 1L(INWI) yeg
BHIEIGET @SS DS

«” Allahabad — Haldia (B) Dhubri— Sadiya
SOETUTS — @neiguim Fufl — sndwmr
(C) Muktiyala — Vijayawada (D) Chennai — Puducherry
apsHwner — efswieumm Qaenenar — L5 &ECsM
9

. Which one of the following railway zones has ‘Hubli’ as its headquarters?
ardueflenw gemaanwulewrs Gsrane @ruiléwCeu wamLewb 6rg) ?

(A) South Central Railway zone
Qe wHHW @TudCeu WL
South Western Railway zone
Qgen CumE @ruilaGeu war b

(C) West Central Railway zone
Cun@ wsdwu @ruilerGey WL

(D) South Eastern Railway zone
Qe Sipd@ @TuldCGeu wERTL D

10

The head quarters of the south western Railway is located in
QzerCGun@ TuldGaudlen sOMLWISD 6TikiGeTaTg) ?

Hubli (B) Allahabad

an®uief DQSTUNS
(C) Bhubaneshwar (D) Jabalpur

yeuCareiveui QUL

11
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Indian Nuclear Power Programme stage-3 aims using as
‘fuel of the future’.

(A) Radium
(B) Polonium
y Thorium
(D) Actinium
(E) Answer not known

QEHu emissm pHoe Hlb - ug-30 ——f erditsre erfl@ummerTais
vweuhiES S L0 Herarg).

(A) Grgwib

(B) GurGareiwb

(C) Cagrflwb

D) sgeiub
12

. Which of the following material is used to make control rods in a nuclear

~ reactor? ' .
.(A) Sodium J Cadmium
(5 Potassium : ' (D) Iron

(E) Answer not known

Gerarmn  gaflomisalle, @m gssm 2 moulo sLOUUTLRS sar(Hser

Qe Heug Gi'gj?

A) 'Gﬁfflqﬂ-"-b (B) sriflww
(C) Qumirlwb : D) @my
13
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The energy source which can reduce global warming is

Cp Qar@ssuul e 6hs euamswnar Hnd wsMb yalQeauliuwrumss
S &E&5EmIGUIG).

(A) Petroleum (B) Coal
SEST 6T CHOT 6N 6T Hlevsa

(C) Natural gas (ﬂrGeothermal energy
Qupens cumy HalGQeuliu gphmed

14

Which is not the non-commercial energy resource of villages and towns?

Aymoiisdr wHMD perhsaiar aueaflsn sryrg WHODO eueTd
(O

(A) Fuel Wood (B) Agricultural Wastes
g erfl@ummaticd Meusmu sifleysafic
6 Hydro Energy (D) Animal Dung
Bir 9 Hmedled cllevni@, snamsed
15

- Where is the largest solar power prOJect of India located?

(P/ Rajasthan

Karnataka
(C) Andhra Pradesh
(D) Gujarat
(E) Answer not known

Qb&wimeiiesn LﬁlmuGutﬁLu Gfw Weresd AL e Hpeuiul Gererg ?
(&) grgevsrar . | -
B) siprLsT

©)  pdruQrGsen

D) egms

16
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The energy produced at a cheaper cost is .

(A) Wind energy
‘Hydro electric energy
(C) Nuclear energy
(D) Solar energy
(E) Answer not known

@m;o‘fog, Gl&e)a&'le) s:_@mwaauu(amc%mma) S %@rb.
@) smpy appe B | .
(B)_ Bindlem 2,pmed |

C) omssn v

D) sfugppod

17

Which of the following statements are true about biogas plant?
Spsa QerhH@prisefld 2 ufli euryy g emewLer GgmiemLwig)
1.  Difficult to handle the effluent slurry
&06YS GLPDML MNESWTEHEUS &g &LD
2. Gas forming methanogenic bacterias are sensitive
aumy 2 (peurs@ QuwsCam@nais ursyfur Selywrearg

3. Easy to handle the gas collection
cumy Geaflliy ereflgreang)
4. pH plays major role
pH wsdw umi@ awdsdng
@) 1,34 1,24

€) 2,3,4 D) 1,23
18
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Zoram Mega food park is in

(A) Andhra Pradesh

(B) Tripura

(C) Mizoram

(D) Uttar Padesh

(E) Answer not known

Cemyd Quiflw 2 ewTe L BIST Sienobg)eTer @)L Lb
(A) < HAHTUATCHED

(B) Afyyn

M WOCETrLD

(D) 2587urCsebd

H.Industry QIGTLHILGHIEMM
1

One of the following state do not come under ChotaNagpur Industrial
Belt

Slereupd @ wrflan CemLrpréyt Gsmoberame Ugdller & eurngg ?

(A) Jharkhand (B) Bihar
EOMT&GEHETL Semir

(©) Odisha (OWCEhatiisgark
QlEm FgSevait
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2
Which one is an example for Agro based Ihdustry? N
(A/éugar Min (B) Cement
(C) Steel factory (D) Mining
'(E)-I_ Answer not known |

CoueTTERTELOENILI <Biiq.LILIGHL LTSS QaTeim_ G}grrkﬂ;b&rraim erg)?
(A) siésorgee - (B) fQuer’ g
(C) oo Ogmibarare ' (D) spiusb CasramBsd

|.Population LD&&6IT G1&TE0 S
1

L. The population growth rate during 1911-21 was negative due to
epidemics like
1911-21 gewpsalle wssdr Ggres eeriddl edivenpurs @)GHssie a8
amyenons @) bss) ?
(i) Cholera
SITEO I
(1) Plague
G Gards
(111) Influenza
@E’nﬁ.q@mﬁrmm
(iv) Famines
LijgR&LD
AV , (i, (i), () ®) (i), (i), (), (iv)
(C) (@, (i), (iv), (iid) (L) (i1), (1), (@v), (1i1)

{E] J-'&nnwn‘r' nnt IET!!'I'EL"T\
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The theory that incorporates the concept that “population grow in
geometric progression (multiplication) while food supply grow in
arithmetic progression (addition)” is called

wésar Qgrens QuEssd @eapule 2 wmHbDGUTE o ame) 2 HUSSH SalLe
wepuild 2 wmSHatng aarums HHSSTEsS darar. Cariur® wpsslw

(A) Theory of demographic transition
wéser Azrens wIHNE Carum®
(B) Karl Marx Theory

&srya wrigeller Camum®

W Malthusian Theory
wregradlern wasaTAgTess Camumr@

(D). Supply Theory . : : .
siefluug Carumm

Which of the following statements is incorrect?

Hersugplh aunddluriselie) gl sapnens

1. High birth rate and low death rate is known as population
explosion.

=ifls Qoo e9dlsn wHnb @eaphs Eouy eildsh wasdr Haras Gau iy
ST BEPESUIL R DS

2. The ratio between working and non working population is
dependency ratio.

CGouea JaiiusuftsEnsen Caume Orlwunsauisenssh Haolarm ddsn
sty ellélgwmEn

3. National Family Planning Programme was launched in 1948,

1948 =ib maw® Csdlu GEbLE s GOUILGS Sl b Qsrumstiuc Lg)

(A) 1lonly (B) 1and?2

1 L@ 1 wppin 2
(€) land3 (DY% and 3

1 wppb 3 2 whmw 3
4
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Which of the following statements are true about India from the
following information which one is correct?

Garhssuuleretaupiier sflurar uflows Carblspssad @hdwurmal uhHu
Geraumb sapmisefles ereneu sflumaraney ?

(i) The World’s second most populous country.
2 aélen @yem_ragl ws Qsrens Waram_ BTLTELD.
(1) The fifth largest country in area.
urtueneild misreaug Cuflu BromE.
(1i1) In 2011, population density of 382 persons per sq.km.
2011eyid yeriged, wsslCgras (s em ssr HCar BLLBES

382 Gurr sy . ) !
(A) (@) only (B¥(1) and (iii) only
(1) w b (1) wHmb (11) L
(C) (1) and (11) only (D) (1) and (ii1) only
(1) wpmd (11) b Gib (1) wombd (1il) wi @b
[ "N A mrirein ek Tramneer -

5
Which stage of demographic transition is characterised by “Low birth

rate and low Death rate”?
wEsar Gsrans wrbhpsder abs foa “@epss Gpoy dsb wpHpL EHODHS
Botiy efsn” e ausUULRSELLGEDS

(A) Stagel (B) Stage II
enao 1 Fleneo L1
(C)¥ Stage III (D) Stage IV
flene 111 Hlenar IV
6
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. Which of the following statements is incorrect?
. Weraumid eunddlukiseileh ey seupTang?

1. High birth rate and low death rate is known as population
explosion.

=ifls douy fidlsn whipd @mpks Bpoy eésn wisar Gsres Qaugliy
eTenml enp&EsLLEE DS

2. The ratio between working and non working population is
dependency ratio.

Gaueama Ariuarserssh Cauama Geiwungauisersgd el arar didgn
gy efldlguwomgEn

3. National Family Planning Programme was launched in 1948.
1948 wguib myanf Gsdlu GEBUS s Four His Sicd Gemkisiuc L g

(A} 1 only (B) 1 and 2

1 wi b 1 whmb 2
(C) 1and3 (DY and 3

1 whmib 3 2 whmib 3

How is IMR (Infant Mortality Ratio) is calculated?

IMR @ppers @nuy eisb erdaiairy searsdlriuGana ?

(A) Birth of 100 child and number of deaths in below 1 vear in a
particular period of time

GHLELL @n peigd 100 Gph@ssd Unpsdd 1 awdbeesr Bpps
Gbagsailer aearalsama

B Birth of 1000 child and number of deaths in below 1 year in a
particular period of time

GOUILL @@ pdmed 1000 Gpimssdr Upbsdled 1 awudbes @bs
GLbasseiler aeamaflsma

(C) Birth of 2000 child and number of deaths in below 1 year in a
particular period of time

GILGLL. @@ pargd 2000 GRB@ssd Wpbsdd 1 awdbeer Bnis
GLeBagsaar aerenflEms

(D) Birth of 3000 child and number of deaths in below 1 year in a
particular period of time

GIUECL @ ey 3000 Guimsser NpHsHa 1 awdpGea Anks
SLphengsafen eramaniEans

8
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. Assertion (A): Areas of high density of population in India are well
watered, arable how lands of fertile soils and easy
transportation.

gapml (A) : Gigwureller <idfls wasar CgrasCarar_ L@dsdr Bir euerbd
lessl. GeuerramenCapm weim cueth Wlés sriplamiser whHyb
arafigrer Gurd@eaurss euadlenw Csmemg HLILIS.

Reason (R) : High density areas also contain old settlements

sryenrd (R) : <4ls LO&SET SLIT5E) UGHsar LILD@LDILITEHT
Guullpliyssamarub Gamer(hdrars.

(A)\/Both (A) and (R) are true and (R) is the correct explanation of (A)
(A) wpms (R) @ran@i &M, Guaib (R), (A)Gér sfwrer elarsswnsio
(B) Both (A) and (R) are true but (R) is not correct explanation of (A)
A) vopw (R) @rar@w sf, <emd (R), (A)war sfiurer dllersswdaa
(C) (A) 1s true but (R) is false
(A) &fl wame (R) saug)
(D) (A) is false but (R) is true
(A) s <parme (R) s

(E) Answer not known
eflen @zMlucidama

The period of stagnant population occurred in

wé&seT Agransulier Coss Hlaw FHULL STOSLLILD &g ?

(A) 1901 - 1911 (B) 1911 — 1921
(C) 1921 - 1931 ) 1901 - 1921
10
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0. Identify the incorrect justification for the statement given below :

India’s population is in a stage, where birth rate is falling, death rate

also falling and population continues to grow :
(A) Family Planning
% Increase in social responsibility

(C) Increase in standard of living

(D) Changing status of women

(E) Answer not known

&Gy Qsn@ssiiuc Qérer sapiipssrar sfwdong clarsssdoar samis.

‘@pdu wss Qgresiarn How aaurmaadgaprd Gpuy Adsn GonHs)
Osreamghédpg. @iy dswpb Gonbs Carary Hsdps Cogib WssQgTms

auatihg CQaranCL Qmsdng” .

(A) ©evu s HUUIE

(B) swpsmu Quryiiiy sidsfgse

C) ampsmss spb afsfssd

(D) wrHpbd Se b Quarser Hee
11

The optimum theory of population was propounded by
waser Agrensuler 2 sbs Carum_ e BlmeSlweut wm?

Edwin Cannan (B) Malthus

e el Caameir LOTEDG GV
(C) Keynes (D) Ricardo

&etre NésriGLm

12
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. Out of various stages in demographic transition theory the stage that
exhibits “Low birth rate and low death rate” Corresponds to s
(A) Rapid increase in population

Stable or slow increase in population

(C) Rapid decrease in population
(D) Population explosion
(E) Answer not known
wés_ Cgresuilud wrhps Cem' umger uoGean s LsHd “‘SThhH Qmﬁ:q GIBLD
wHmD  STPHES @ouL s’ el sLLHO Geteumbd. abhs  Hlaoaw
R5SBEE DS :
(A) wsser Asrenguder eleraurar sy
(B) wsser Qsrensuier Hlevewrar siowg Qugeirar oidsfliy
(C) wéaadr Qsrensuiler elenyaurean Gampay
(D) wsser Qzrevs 'Qemq;uq

13

The population size of Class II urban settlements is
@narLmb g7 BasTyD G4 uilprysefler wasar Qasranswireang

(A) 10,000 to 19,999 %50,000 to 99,999
10,000 - 19,999 50,000 — 99,999
(C) 20,000 to 49,999 (D) 5,000 to 9,999
20,000 — 49,999 5,000 - 9,999
14
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Choose the right matches from the following
silwursl Aurmpduyeareraunenns CsrbEsE

(1) Sexratio —  Number of female per 1000 males
umellen cll&lsibd — 1000 e sEwsE assmer  Quemser
eremmm ellSlawn
(2) IMR —  Mother’s death at the time of delivery
per one lakh
IMR - @m Qelsd siuldell srownisaler Grseu
@ooy cffsib
(3) MMR —  Mortality before completing one year
MMR - 9® aum Pyyd wda  Ghmgsaier
@mnuy fidsw
(4) Density of population -~ Measures population per square
kilometer
w&seT Agrens SLisd —  @m g5y HGor Brifd awdls@n wéser
Qzrens ojemeli()
(A) (1) and (3) are correct ‘{)(1) and (4) are correct
(1) wi_o (3) & (1) wpmw (4) s.
(C) (2) and (3) are correct (D) (3) and (4) are correct
(2) vHmw (3) & (3) whmyw (4) sf

15

Which of the following statements are true about population growth of

India? ‘ :

(i) - Bihar, Uttarpradesh, Madhya Pradesh, Rajasthan and Orissa,
which constitute 44% of the total population of India in 1996.

(i) Bihar, Uttarpradesh, Madhya Pradesh, Rajasthan and Orissa,
which constitute 48% of the total population of India in 2016.

(111) These states contributed 70% of the total increase in population of
the country during the period of 1996-2016.

(A) @) only (B) (i) and (iii) only )
(C)V6 and (ii) only (D) (ii) and (iii) only
16
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According to census of 2011, the union territory has the lowest density of
population is

2011 oo e wEEET Qgrenss sarsbasuilearuy, abs welluea WgCssssla
w&56T OsTens LTSS Gopauns o dreng) ?

(A) Daman and Diu
L.TOET DML i,
(B) Lakshadweep
arssda
(C)Andaman and Nicobar Islands
Sibswrer wHmib H&Garumt Saiser
(D) Dadar and Nagar Haveli
st wHHID BaT apGeua

17

Chaoose the right answer:

silwurer sflenenwss Carey Gals

Total fertility rate measures
Qiersss smaynsd elldzh semellGib qpenpsdr.

(A) The number of live births occurring during the year per thousand
population
1000  wisdibsrensdse o amplgdd  Haun  Grrs  dpliyseilan
era et Gang

(B) The total number of deaths per year per thousand population
=pufiph wasdr Qeransss oo eunlidds fsuph Gurds Epuyseflsr
arlTant| Sene

(C) The number of women of reproductive age dying due to maternal
causes per one lakh live births
g wlsh GApoygysefd smiusfl arrardissrrd Epssl Eenidums
suwgen W Gusmssilen sramentldans

{JJWhe number of children born to women during her entire
reproductive period
Quemseiler  gprp  BeoCuméss sreddan  dogs  EGwsamssatn
STETE

18
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. According to the 2011 census National Average Literacy Rate in India
was

2011 wss’ Qsrens sensQs@uferuy  @bHwureier Csflw sgrefl erssdey
cildlsLd

% 74.04% (B) 74.02%
74.04 sgaisd 74.02 sg6igw
(C) 74.08% (D) 74.10%
74.08 sz6igd 74.10 sseisbd
19

As per the 2011 census, the Sex Ratio in India was
2011 w&sET Qgnens sawsdl qeruly, @bSlwureiler urear alldlswn

A) 927 (B) 972

& 940 (D) 964

20

is the female literacy rate of India according to census '

2011.

2011 wsser Qsrens sansQs® U ey Quar soallube) eNfsw
A) 93 (B) 74

(©) 825 7T 65.46

21
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Match the List I with List II and select the correct answer using the
codes given below : ¥
According to 2011 census, the hteracy levels in the states are

List I ListIT
State : Literacy level (%)
(@) Kerala 1. 93.99%
(b) Tamil Nadu 2. 75.36%
(c) Karnataka 3. 67.02%
(d) Andhra Pradesh 4. 80.09%

@ ® @ @
@A 1. 2 3 4
vl 14 2 3
© 1 2 4 3
1 3 2 4
(E) Answer not known

uCgwe I wpmib uigwe IT g Qurr(r_r,g,@ &Gg} Giesrr@sasuui_@mm Fflwimen
dlecaw Cgiey Gaws :

2011 wss Qsrenss &mras@as@ulﬂm umq_ UigSFeult em,ﬂesmrrm e;gsﬁlélgg@d) 2 drem
wrfleotsmar aflasiu@Gss

U iguwie T 0 ulgwe IT
orflon agssdlay ofpn (%)
(a) Gagarn 1. 93.99%
®) sOpBETEH 2. 75.36%
() arprL&T 3. 67.02%
d)  <2sHrArCssid 4. 80.09%
@ B © @
A 1 2 3 4
B.1 4 2 3
€ 1 2 4 3
D) 1 3 2 4
22

SYED youtube channel : https://youtube.com/@Syedexamguidance
Telegram channel : https://telegram.me/syedtnpsc

69


https://youtube.com/@Syedexamguidance
https://telegram.me/syedtnpsc

Among the Union territories, which is the highest and lowest density of
population in India?
(A) _New Delhi, Puducherry
New Delhi, Andaman and Nicobar Islands
(C) New Delhi, Goa
(D) New Delhi ,Yanam

(E) Answer not known

@sdwureled ofs wHmD GoPHs wesa s Osrer welwer GyGssmser
WTena. ?

A) ysQLo6, ygsGsef

(B) qg!@i_sbaﬁl, sipswren HECarunt Seyser
(O) yzQLod, Careur

D) ygCL®6e, gammb

(B) ol Qsflwalidena

J.Racial, Linguistic Groups and Major Tribes

@6v1Ld, CQLOMLAUTILIEL & (LP&HS6T LOHMID (PSS LILPKIGq UTl6wT
1
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The caucasoid is known as race.
(A). Asian

J European

(C) African

(D) Australian

(E) Answer not known

ST&ESFTUH GTETLIGUTHET — @asgeul.

(A) dwiser

(B) oGrmuQwrrser
C) <ufssiser
(D) <yevdCrelwiser

Hindi language is belongs to
ablpdl Awrf apg Qumnl GHLusDSs sTibss 2
(A)/The Indo-European family (B) The Dravidian family

@5Csr @Crmiutu @HbUb SmeflL @@ bub
(C) Austric family (D) Sino-Tibetan family
S4GOLME @ HIbLb &Carm-gleugdlu @Hbub

FTON A o

3
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Match the following major tribes in India with their locations.

Shserr_ (psEW GBSHw Lk uilareny euitseficr siamwellLsgiL e QLITHSS)S.

(a) Bhils
evsar
(b) Bodos
GunrGLm
(¢) Gonds
CamemrLmm
(d) Mundas
(LpEssTLIT

@ b © @@

A 3 2 4 1
@) 3 1 4 2
ym 2 4 1 3
™ 2 3 4 1
4

1

Odisha
Pl oy
Gujarat
GRS
Jharkand
gl’l’ﬂ'&ﬁﬁlﬂ'l_

Assam

T BEUENITLD
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Match the following languages spoken by the tribal community given in
List A with the regions where they are spoken in List B :

uligwe (2) el Qsrpssuu_@erer uphtiGyuiasst Cusb Qumrflsemer
LW () edlgyemer, Beeu Gusiu@b WyCssnsErLen @UbHs.

List A List B
ULigwied (<) UL ig e (<)
(a) Lamani 1. West Bengal
owrafl Cum@ sunismarid
(b) Khotta 2. Karnataka
Camlm SIBTLGLD
(¢) Koraga 3. Tamilnadu
Qsmyrsn SBPHTH
(d) Tulu ) 4. Kerala
S Cayerm
@ ® © O
A 3 4 1 2
(B) 4 3 2 1
© 2 3 4 1
3 1 4 2
5

According to census 2011, the percentage of tribals in total population of
India is ‘

A) 6.3% (B) 7.4%

©) 82% 7 8.6%

(E) Answer not known

2011 b ya@mger wEsa Qgress sansQsBUldauy @pHwurelear GQorss

&5 QFTsID LWPREIGIY WESET LD ——— FFEIGLD 2 ETaTaTT.
A) 6.3% (B) 7.4%

(C) 8.2% (D) 8.6%

6
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3. Which one of the following language is not an Indo-Aryan linguistic

(B) Bihari
(C) Bengali
(D) Bagheli
(E) Answer not known
Gesmausd Quorflsafd @pGsr-wflu Qumnld EObusHe Cermsg ergl?
(A) LImeDIg-
- (B) 9smfl -
(C) Qumsref
D) ulse

~ 'Where Khod Mals tribes live in India?

(A) Tripura
(B) Sikkim
(C) Gujarat

M Orissa

(E) Answer not known

@pdwreller Cami eden LG e eruCs eumpdpriser?

A)  Sfygn

(B) #sdw

©) ogs

D) efsr
8
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The people characterised by short stature, dark chocolate brown skin,
woolly hair, bulbous forehead, broad flat nose and slightly protrudmg

jaws belongs to race.
(A) Proto—Australoids ' (M\I egritos '
(C) Mangaloid (D) Nordics

(E) Answer not known

Gl wrer 2wib, smd srsGaol flp uwlysCsend, swuefl gy, udy ApH,

Uphs SLewLwnar  (p&@E WwHmIb  FHm) ﬁqgg, srenLser  Spdlueuhmmed
alanslILHSSLILEHLLD &S 2 Ty

(A) LGrri GLm—y6vL_Femiil e (B) faMGLmeiv

(C)  wmsearmii e : ' (D) mmirgseiv

Blumenbach classified 5 main races of the world during 18t century,
which is based on

(A)
(B)
©
D)
(E)

Hair form

Nose shape

Eye colour

Skin colour
Answer not known

18gib mIHmreRTIg 6 Lap@wan@usdlan 5 cuamaswnar 2 w8 wallg @ar cumasur() @) ser

Sl LiuenLulereng

A) &fes eugeud

(B) epsflen augeuid
(C) &Y cuekremTid

ﬁ &L Himid

10
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Which race is found in the Himalayan and Sub-Himalayan regions?

(A) Indo-— Aryans (B) Dravidians
@’ Mangoloids (D) Arya-Dravidian
(E) Answer not known

@wreowr LHHID Femerr @meuil QrGssmsaie sramiLL&smig Gard g2

A) @bGsm — s (B) SrrelLirger
(C) wrGsredwi (D) <piw — Hyreil_iser

11

With reference to 'Changpa' community of India, consider the following
statement :

(1) They live mainly in the state of Uttarakhand

(i) They rear the Pashnina goat that yield a fine wool

(i11) They are kept in the category of scheduled tribe

Which of the statements given above is/are correct?

(A) (1) only (B) (i1) and (iii) only

(C) (ii1) only (D) @), (11) and (iii)

(E) Answer not known

@b wrelgiarer ‘ermGur @asseuamy GHUbGHmsuio ECp 2 drer iblsmssafe
org) EMlLTesns s@HsLIUGSHDG.

(1) seurser WwasHwwns 2 srararl wrbloddle eurpslnmiser

(i) <eisar uevham eaem QeudrermyllBis @idsliugwrar  sbuaflaw

Qumdlement
(111) sieuisar e Qasser eram fledle @ maserpeart.
A) (1) vl (i1) whmb (1i1) wi G
(C) (111) wiEw D) (), A1) woHmd (1i1)
12
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_The highest percentage 6f scheduled tribe'popﬁlation is found in the'
state/union territory

(A)‘ﬂkshadweép

(B)I Meghala&a s

(C) Mizoram

(D) Nagaland

(E) Aﬁéwer not known

ULiquId  ULpriig uller LodsaT .5;515 55@35551@. SranTlILI(HIb m&@mﬁ@aﬂmm
ﬂq@g&m 6Tl ? | I. |
(A) ~eLspSayser

(B) GLOGI'I'GJU_IITI

©) Lﬁ]GEr;'UILb

(D) prsrerbs

13
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Which of the following tribes and their location is/are correctly matched?

Tribes (Name) Location

(a) Jarawas — Andaman and Nicobar Islands
(b) Gagra —  Uttar Pradesh

(¢) Koraga —  Tamilnadu

(d) Rathawa —  Bihar

(A) (a) and (c)
(B) (b) and (d)
(C) (a) and (b)
(D) (c) and (d)

(E) Answer not known

Sparentiu®Bb UPhRIGyuiaT wHmb Seurseafldr Q@EHUGLD, gl/amer sfluns

QumpssILL_ ([HeTaren?

LI EIE g Ul e (QuwiT) @mUuhLD

(a) sgmymen - Sibgomer HlCarunT Seyser
(b) snayr — 2 $SrrCsen

(c) Gsryrsm — SOPBTEH

(d) rsseun — Sammr

-(ﬁr (2) wpmd (¢)
B) (b) wpgw (d)
©) () wppid (b)
(D) () wpgd (d)

14
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. Choose the correct options among the following major tribes in
Tamil Nadu

Geieumeuareubmier SLIPHTL g6 (PSS LLphiEgudler ?
(1 Kurumbas

SnIbum
(1) Paniyan

Lemfluirr

(i) Toda
G
(iv) Bhaina
@A) (), (i) and (iv)
@), (1) wpgw 1v)
B)  (ii), i) and (iv)
(i1), (ii1) wpmo (1v)
WD), (i) and (iii)
(), (i1) wpmn (111)
(D) (iii) and (iv)
(i) > ()

15

SYED youtube channel : https://youtube.com/@Syedexamguidance
Telegram channel : https://telegram.me/syedtnpsc

79


https://youtube.com/@Syedexamguidance
https://telegram.me/syedtnpsc

Which tﬁbal group is not included n Tribes of India?
(A) DravidianTribe -
(B) Mongoloid Tribe
: (C) 'Turko — Iranian Tribe
w 'Aﬁstolq’id Tribe
E) AﬂSWer not known |
 @BBLTea g 5aRe @86 aps UG @bAUDTS.
(A) rredligwier .uggréx@q. o |
B) wiseni@ LRI |
©) i8GuT-@rraludr Lighie
D) @eCrori® upies

K.Calamities — Disaster Management GUIIL_[J&6IT - GUIfIL_[] GLO6VT6G0T6mLD
1

In India, 59 per cent of the land mass is susceptible to seismic hazard;
5 percent of the total geographic area is prone to floods; 8 percent of the
total landmass is prone to cyclones; what percent of the total cultivable
area is vulnerable to drought?

@pdwneder, 59 sgais fleoviugiy flo sdiey SumnusHibE <emdpg; Qorss
yelllwe ugdulled 5 sseidlgn Geudtarsgsme unfésuiu@n; Qwrgs Hlovurila
8 gpelldls GoraeléEg pertdlng. Guorsss snELy LTLEE assmen sseisDd
upLSlumed urdlsstiu@Ein?

(A) 72% 5 65%

(C) 70% D) 65%
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Match the relevant statements

sflurer smpepl Qurmsas.

(a)
(b)
(©

(d)

List
aufiens [

Earthquakes
Ha EH&sH
Soil erosion
wem 24y
Flood

GeueTerd

Tsunami
sarmdl (puCurena)

@ ® @© @
@@ @ &
B @ O @
©@ @ O O

) 3 @ @

(FY Anawar nat bnawmn

3
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(¢))
@
3

€Y

List IT

afles I1

Harbour wave

SIEDDPE Hana

Measured in Richter scale

MeLi siera Carand eerssliuBins

Top soil removed by running water,
flowing wind or moving ice at faster
rate

BGyriLb, srpm efsb  Cash, pa@bd
uaflEsqadr Gaphlar sfCaasssme war
CuaBés ssnniu@ssn

Water borne diseases
Biflenmed Lgeyn CpmigGsnm
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The nodal agency responsible for monitoring seismic activity in and

around one country is

(A) Geological survey of India

W Indian meteorological Dept

(C) Emergency operation centre

(D) National Disaster Management centre

(E) Answer not known

@pdu  sTRssSer ey Hoeuerd BHTlgd  gHUBLD fla  sfiesmer

sensrenflEs D)

A) @ibdw ysluduwied ﬁ;u}aq @wwLb
B) @vdu aunaflewe =pie| @bwibd
(C) weusy sre QeudUT_{H DWILD

D) Gsflw CuALi Guerarao eWLD
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Which two districts of Tamilnadu are frequently affected by cyclonic
storms? '

(A) Theni and Madurai
Nagapattinam and Cuddalore
(C) Villupuram and Perambalur
(D) Kancheepuram and Ramanathapuram
(E) Answer not known

S B igen eThg @yer(h Wwreul L mseT iy sslg Luedamed undssiu®dermen ?
(A) Czall wpmIbd wgeT

(B) prauulgend wHmD ST

(C) efluymd wHmb AupbugmT

(D) smgpélynd wHmb @rroBrSLILD
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. Which of the following statement/s is/are true in respect of lightning?

(1)
(i1)

Heated Etir' sends shockwaves through the atmosphere

There must be a mechanism present to start rotation.

w¢” (i) only

(B)
(©)

(i) only
Both (i) and (ii)

(D) None of the above

(E)

Answer not known

Benerene Qumsseupdlad ereumb smpmsefle) erg o @menowITaTg) ?

(1)

(i1)
(&)
B)
(©)
(D)

GLrer srHn eeflwaro auflures dieuamasmer iailiLdns
sphilenws Qgm ks e cuflwpenn @@&.& Ceuer(B)d

(1) v

(11) bR

(i) wppi> (i) @ram@is

Q@aeumbler ergleyLilebenen
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International Tsunami information centre is located in
(A) dJakarta, Ihdonesia

(B) Honolulu, USA

(C) Puducherry, India

(D) Colorado, USA

(E) Answer not known

FiieuCsE HaTTLll $&6IG ENLDIILD ENLOBHSIETET @)L 1D
A) germsst, @BCsTCardlwm
Qanreaie)l, G wh&sT

€)  ugéGsn, @bHwim
(D) QsreoyrGLr, 2GQwAssT

L.Environment and pollution&mMM)I& & Lp6eL LoMMILD Lom&LT(h
1
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The 27th session of the conference of the parties (cop 27) to the UNFCCC
will take place in Sharm el-sheikh, Egypt from 6-18 November 2022, in
connection with

UNFCCC-ssren s flseflen wnpmigen (cop 27) 27%% soiey adudod o drer
(Sharm el-sheikh) agmb eréb Csé @ 6-18 BaubUT 2022 GUENT GTHET STTERTLONG
BLESUILGADS ?

ﬂ Climate change
sroflamwrhobd

(B) Carbon Tax
smiruer euffl

(C) Carbon foot print

SMTUGT &M F&

(D) Conservation of threatened species
sifleflen eflafibGer 2 arer 2 ulflamigeneTs LNgETES

TN A o Y

Acid rains are produced by

(A)\ﬁ:éess NO2 and SO; from burning fossil fuels

(B) Excess production of NH3 by industry and coal gas

(C) Excess release of carbon monoxide by 1ncomplete combustion
[¢0)) Excess formation of CO2 by combustion and animal resp1rat1on
(E) Answer not known ' '

2l wapip eTEeaTED &@surraﬂg)g

(A) ug erfl@umener srrﬂuug,rrco GevafleumLd &ﬁ&uuq_u_}rrﬂn NO: LoHmD SOz

- agpeoid

B) sfsugurer (NHs) 2 puss wpmibd Ligio ;Elmasa;rﬂ Uy ep@LD

(C)  ePsugwret sriuen Curaméamsd Ep(powns eTil&SLLILmind GBOLE

(D) wsfstuguwne LIU.IGDTLJ[I’I_!_T)[D aslﬂu_nﬂsvsurru mp)rcmu) ondear seuns (LPEOMEET
ELPELD
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The UN conference of Environment and development is popularly known
B . : '
(A) Montreal protocol
(B) Basel conference
(C) Kyoto protocol
Earth summit
(E) Answer not known
FOMESR® WwHmD Cubur. Gésrar g.6r. LIBTH WMyuwrs GTeuT
SiP&E&LILHE DS
(A) wrenfwed Apdlapann
(B) Cus® wrpr@
(C) ACum GLr Gpplpenp
(D) .51.51 2 &8 wrpr®

Thermal Pollution in water resource mainly reduce the concentration of

(A) pH M diésolved oxygen

(C) acidity (D) alkalinity

(E) Answer not known

Qeutiu wrsuT wer sryeaors bir Bleowselld adaupbdler Gedley fles emelled
G@PULD 2

&) pH (B) DO (s psadgzen

©) sfesenenno =D SMYSSETELD

M.Nature of Indian economy—Five year plan models — an
assessment— Planning Commission and NitiAyog

@b QUIT(HETTEH TS Hl60T &63TENLD - BHST6uoI(H SIL-L LOTHFIS6N - €2 (1h
LHUEE - HLL & sLhlegs HMID B < Cuimé
1
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Choose the incorrect statement about the strengths of Indian Economy.
(A) India has a mixed economy

6 Industries plays the key role

(C) India has a fast growing economy

(D) lf‘ast growing service sector

(E) Answer not known

@E@u;lﬂ QurmeTtgnrsHer LomsE e sooldd AurEBbsTs arsdusms
CaipAsE-

A) @pdwur @m saLiy QummeTTsTIb

(B) Qsmfpmiep weflu LG wisfpg)

(C) @bdHwur Causwrs auenmb AunGBaTTETISmS Qaramberarg)

(D) QGauswrs auerd Caenar genp

2
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Choose the right matches among type :

1. Father of Capitalism — Alfred Marshall

Father of Socialism — Karl Maix

2
3. Author of Welfare = — Adam Smith
4.  Author of Scarcity - — Lionel Robbins

(A) 1 and 3 are correct
(B) l.and 2 are cdrrect
(C) 2 and 3 are correct
M 2 and 4 are correct
(E) Answer not known

ghlwrer QUIBHSID eSS SaRT(HI 1Y

1. @sordisgieusdea sims - ebeuldgl Lorrr'réq.ei)
2. swigeusHen sHdS ~  &mited w6

3. po Qassersdler o Afwir - L ibevilg

4. uppréGep Qessansder HARuT -  Gaowaerd Grrieran

(A) 1 wpgd 3 &M
(B) 1 wpmwnd 2 &
©) 2 oomib 3 &

D) 2 opmibd 4 &
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The vision of $5 trillion dollar economy of India has fixed the target in
the year of

B gloduear Lroir @idu Qurmertsmrd’ aen  GNECHTE  @meusdHEb
2,601 (h).

(A) 2021-22 @ 2024.25
(C) 2026-27 (D) 2030-31

4

NITI Aayog was established on

B < Curé Blmieutiu L g.

(A) January 1, 2014 nganuary 1, 2015
sareufl 1, 2014 saneufl 1, 2015

(C) January 26, 2014 (D) January 26, 2015
sareufl 26, 2014 saraufl 26, 2015

5

Why was the NITI Aayog formed?
NITI Aayog -ger e eurdsiiuc L g ?
(i)  to promote co-operative federation
Fol ([HDay sl LTE (penmeni ses@ellssd
(ii) to decentration the planning
@allws idorg uraerssiuc L SCLfGsa
(111) to control the population growth
SOpSEhEED/ wiblabs@sEh @l Cu edrar Cursdsmar smarsd
(iv) to settle inter-sectoral/ Inter state conflicts
éadr dgransulenar s HULHSS5H

(A) (i1) and (iii) only (B) (1) and (ii) only

(11) whms (i) we G (1) whmub (ii) we G
(OW”G) and (iv) only D) (), (i) and (i) only

(1) wopw (Iv) v G (1), (i1) whmb (iii) weFid

(E) Answer not known

6
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is the Chairperson of the Tamilnadu state planning

commission.
' SOIHBHIEH S Ls@Gpelen saeeul eumi.
(A) The Finance Minister d The Chief Minister
& epwésit PEHD DNDEEIT
(C) The Member Secretary (D) The Governor
Qawidd o mcnGen 2b(@HBT
7

The National Development Council came into existence on
Caélu euarisdls @ Qewdur’ H&E ubs Brer

(A) 5th June 1952 (B) 5th July 1952
ggoen 5, 1952 gee 5, 1952

@f 6 August 1952 (D) 6t September 1952
s ([H 6, 1952 Qali_bui 6, 1952

8

i4. The major objective/s of the government to setup the Planning
Commission in India are

@ndwreie dlls Guas  y@olushsrer  Srsrhssdlar  gpsdw
CBrEERISaTTEU ST WINg) 7

(i) To promote a rapid rise in the standard of Living of the people by
efficient use of the resources of the Country.

Bilgeh  aedsmard  fApeowrs’  owdu@bgeusdar  ppenh  nsaaflsn
sUMTbEnEs sradla elayaurer aparGannsass b srambeumasd

(i1) Helps to increase the production and offering opportunities to all for
employment in the service of the Country.
phusdfenn flaflis  ogesd,  Eriger  Ssaetsgil U satgin
<syan areuhdELd Gauene almiiiSean auLphiEsd

(iii) Do not have the responsibility of making assessment of all resources
of the Country.
BTL g &7 ama@% ausmmisearuyld  wHOSEH Gsaow Geamqw Gurmdenu
L]

aREsd Gerarer Eousmigwfldena
(A) (1) only (BM(i) and (ii) only
(1) o Hub (i) nhoud (i) @i
(C)  (i1) only (D) (1) and (111) only
(i1) wi G (1) wHmnsd (111) wHib
Ty Anewar nat Ibnaorn
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The Fnst State Finance Commission was constituted iy
(950 0750 39 Saanuid o ganksiii L agir)
A 199 (B) 1992

0) 198 @Mg

N.5 YEAR PLAN 5 &y 6501(H SIL_L LD

The Second Five Year Plan was based on

@uer_reug @psTaTHS HLD SigiueLwnsd QsrarL wrgll
2h(GLD.
(&) Indira Gandhi Model @ Mahalanobis Model
@pdrr sl wrHM QuasGarmien wrdi
(C) Harod Domar Model (D) 20 point model
Gamnr - Gumwori wr 20 s wrf
2
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. Mahalanobis four sector model was applied for which of the following
Five Year Plan?

wapoGermiev mremE gem wrAfl  Geteumb by mbsTaTh  SLLGdl

UweTURSSIUCL G ?
(A) First
(PSOTEUG)
ﬁr Second
@ e reug)
(C) Third
eLPETMTEUS)
(D) Fourth
. Bren&meug,

MNehru Mahalanobis model was based on

Gnn waaGarmen wr_d ager gluamuls o dearg.

()

(i)

(iii)

a high rate of savings s0 as to boost investment to a higher level
Gaulliny aildlgh flsflgsmd wpadlh alflgn sydlsfsEn

It preferred a heavy industry bias to develop the industrial base of
the economy

Gamfles srrbs Gummerrsmsdneg sems Gsniossrses psdusseun
Sailssd

It opted for the protectionist path so as safeguard infant industry
euar(mid GsmpldsEnaE urasTiy eflisa

(iv) It encouraged import substitution so as to achieve self reliance
genanape) San i GnéEnd udd (e aslis Seeag eabEalssd
(A) (i) and (i1) only (B) (ii) and (ii1) only
(i) womb (ii) Lo (1) wpmid (1i1) wi G
(C) (ii) and (iv) only (DY), (id), (ii1) and (iv)
(11) whHpb (1v) w Hib (1), (i1). (ii1) whmb (1v) 0l Gb
, ; .
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Garibi Hatao and ‘growth with social Justice’ related to which five year
Plan in India?

‘sfl9 slLrCsr, (cumen @PItIL) wHMDL ‘Fps BHyLem euatiés eranug
@sdwureilen arhg bsTaTHS HLSHIL 6 ATy wig ?
5 Fifth Five Year Plan
BbsTeIg BHSTETHS SLb
(B) Fourth Five Year Plan
BransmTeug Lhsrarhd S b
(C) Third Five Year Plan
epanprels ghsraETHs S
(D) Second Five Year Plan
@rerr_reug whsTaTHS S Ib
5
‘Garibi Hatao' and ‘Growth with social justice’ related to which five year
plan in India?

‘aumgewey &R HCaumd’ wigh ‘sups BHuler eerred aearug @pdwureild
s mbsrarhs S S e Csm_irjen g ?

(A) Second five year plan (B) Third five year plan
ElreaT_meug mpsrarhs SO b ppemrelg mbsran(fs Sl b
(C) Fourth five year plan (M‘ifth five year plan
prensTaug REETETEE S S BESTES BhsTETES S b
6

The Book ‘Planning and the poor’ is written by

‘Bridlie wppn  goew’ b USssD S|GuiiGaTie)
ET{LPHLILIL L &
(A) Shriman Narayanan (B) ML.N. Roy
LOBLOGHT BT 6T 6l &TlD. aratr. mml
(C) Mahatma Gandhi (DWB.5. Minhas
WETHOT Srhdl 15 ereh. uhleimanmais
7
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The Relationship between gross domestic product and unemployment is
represented by
Qurss o ampm @ 2 pusd whmb Caumaulamnsd QL Gu 2 der QAgmiemu
aT(HSg&EET (Heugl
(A) Gini coefficient

flafl Ay

\J Okun’s Law

@Gae ol

(C) Lorenz curve
oryeney euaneaTGsT(H

(D) Phillips Curve
Gefllien euanearCam(n

8

Which of the following is incorrectly paired?
GetreumeuareudmieT seupnsls Qummbdudarareupens CaiboswH.

1. GSDP —  Gross State Domestic Product
GSDP —  wrhfo Qwrés 2 BT () 2 Huss

2. GDP —  Gross Domestic Price
GDP —  Qurgs 2 et (H Qe

3. SIPCOT — State Industrial Promotion Corporation of

Tamil Nadu

SIPCOT —  sP prE wrfle Asmile aeaisds sPsw

4. SEZ - — Special Employment Zone -
SEZ —  puy Ceuemeeumitiin] eTL_ebd

(A) 1 and 3 are correct {ﬂ 2 and 4 are correct
1 wpmibd 3 &l 2 whmib 4 &l

(C) 2 and 3 are correct (D) 3 and 4 are correct
2 vpmb 3 & 3 whHmib 4 &

O.RBI
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. Consider the following statement

Ul emeumLh sahenm Heuaf.
(1) Reserve Bank of India is a custodian of forex

Bpdw fzre eumdl 2pflus Qsorauamfller LTgsTauma
(i) Reserve Bank of India was formed on April 1 1934

Bisu fletes auriidl 1934 b aanf gurd 1 ab Gsd gaksiulLg
(iii) Reserve Bank of India also called “Lendor of first Resort”

Bidlu fAstes amd wad Howns s e nGaurer e Sepssuupdps)
(iv) Reserve Bank of India collects receipts of funds and makes

payments as behalf of the Government out of these, which are
correct statement?

@edlu Asrey adl srfipsrar Bl aumeauraw QuibmsGsrearanged whmb
siTHer Gl raellanmisendEy L G;L;@ﬁm Gumann Leflsener Qaldlns.

(A) (i) and (iv) (1) and (iv)
(i) womib (iv) (1) g (iv)
(C) (1) and (ii) (D) (1) and (1)
(1) whmb (ii) (i) whmib (i1i)
(Y  Answer not nown
2
. Who is the chairman of central board of directors of RBI?
Bpfw Asie aumduiler wsdu Busgeanisdr @opailer seaaui W
(A]/E.?,BI Governor (B) Finance Minister
Merel curtid Eeuiremit Hidl seninsai
(C) Prime Minister (D) Home Minister
dygion B GTSIENN BienLDFFT
Fo :
3
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The apex bank of rural credit 1s

Srmouyné sL@IsaETen 2 &5 cunidl

Af NABARD

BUMT(hH
(B) RBI
<2} TED
(C) IDBI
B 98
(D) RRB
<24, T2y,
Self-Help Groups Bank Linked Programme (SBLP) started in
(A), 1996 (B) 2006
«)‘f 1992 (D) 2002

(E) Answer not known :
&w 2 g6lls Gsser aunid Qeariiy HiLib (SBLP) wyrblssiur L eyeamr(
(A) 1996 (B) 2006

(C) 1992 (D) 2002
5
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The Rural Infrastructure Development Fund (RIDF) was setup under

frmoyp e sl Lawiy wparCarhpnd B —————— & 2 (haurssuulLg
(A) RBI
@idwu fMere cumid
0} NABARD
BrUT(h
(C) SIDBI
&g
(D) IDBI
B9
6

. Which banks do not come under NABARD?
Spssnanusneupnier puri( (NABARD)-er S @uw Quprs sunidlaer?
(A) State Cooperative Banks

wrrfler sl Bpey sukidlger

(B) Regional Rural Banks

A& UL cutiflseT

(C)/Export Promotion Banks

ghmins cuarTT&d aukidlser

(D) District Central Cooperative Banks
el L endll &t (Hime] euklidlsedr
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In Tamil Nadu, there are/is Regional Rural Banks
functioning. They are/it is

SODBHTL1q6) GyrhHuw &ymwo cuidl/eurdlger
Qewdu@OHenng./QawdubBHeTnar. 215/ iame
(A) Three, Pandyan Grama Bank, Pallavan Grama Bank and Cholan

Grama Bank
ppenm, Lramgwer Hymw euiidl, udeeuer Egmw eunidl wHmb Gemper Sy
curudl ;

ﬂ Two, Pallavan Grama Bank and Pandyan Grama Bank

@ran®, udeeuer Egrw eukdl wHYID Unegwier Hymo eurid

(C) Four, Pandyan Grama Bank, Pallavan Grama Bank, Cholan

Grama Bank and Tamil Grama Bank
| Bre, unamgwie Symw euiidl, udeuer Symw curkdl, Cemper Sgmw eurd,
wHnID SWOP Hymo euriidl
(D) One, Tamil Grama Bank
@arn, SO Srmo curkid

T Anrmarram mak Frnasam

8

____is responsible for providing microfinance to self help groups.
s 2 g6lls FUESETES EnHlE 2efliug
(A) NGO

eTaim. gl.gp
(BMNABARD

BLITTL
(C) CC Bank
#Hé aurnid)

(D) State Bank of India

urys vl eumidl

@ar Grrésin.

I-ﬁ‘.\ AI"IQ“}'(\-T' nnt I."ﬁl'ﬁ!i’ﬂ
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Micro finance refers to

pi&rH4 ererug) 8 Ghlsdng

(A) The provision of financial services to domestic exporters
o eTETL(h ghmwdurermsE HE Comeusmer cupmkiGSeH

M The provision of financial services to low income groups
GonHs eumpwrend CsramL Yflellarmes HE Comeuser aupri@ge

(C) The provision of financial services to Domestic importers
2 aTHT(H @D&GwiHwnerhéE HlF Cemeuser cupmhiEs e

(D) The provision of financial services to international trade
uaranm () euiissa55M@ Bl Coameusdr aupmiGsa

P.Finance Commission —Goods and Services Tax.

H& 26615 (L —-F76G LHMILD CFeneu eurfl.
1

In which year 15t Finance Commission established?

(A) 2015 | { 2017
(C) 2019 (D) 2021
(E) Answer not known

aps ar® 1570 HEHEGW THuESsIULLS?

(A) 2015 | (B) 2017
(C) 2019 (D) 2021
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Arrange chronologically the chairman of the finance commission :

HlS) mamusler senaeuismer srocurfluns suflensliubs5s.

1. Y.B. Chavan

.19, Feumen

2. K. Santhanam
Cs. ghgranid

3. K.C.Pant
Cs.8. ups
4. Mahavir Tyagi
wareiT Furd
A) 4,1,2,3 ﬂz, 4,1,3
©) 2,1,3,4 D) 1,3,2,4

The Fiscal Responsibility and Budget Management (FRBM) Act was
constituted on

flg Quryiiiy wHmID eurel-QAFwe CLOTET®WE FLLLD JMWESILILL 60 H

17th January 2000 (B) 1st January 1949

sanreufl 17, 2000 syaeufl 1, 1949
(C) 1stdJuly 1964 (D) 12th July 1982

g9@e 1, 1964 g9me 12, 1982
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The principles of income tax of the Govt. of India based on
@bHw spélen cupoman eufl AsmeaTenswnang @ SlgliumLude SmwhgeTarg
(1) Ability to pay
Qegisgibd Sper
(1) Taxable capacity
aufl g Smen
(11i) Canon of equality
gwsgieu el
Select the correct answer by using the codes given below:
GO Hsmert Lwau@B S sflurer el amws Qsfey Qsuis.
(A) (i) and (ii) are correct
(1) wpmud (11) sNwreareney
(B) (i1) and (i11) are correct
(11) wpmd (111) sMwreareeu
(i) only is correct
(1) whgd sfwurearg
(D) (i11) alone is correct
(ii1) wpmb sNwurearg

s B

5
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Match the following :

Qurmsgs
(a) C. Rangarajan 1.  13th Finance Commission
C. yaasyrger 13 augl HS &
(b) N.K. Singh 2.  14th Finance Commission
N.K.&m 14 aug HPs W
(¢) Dr.Y.V.Reddy 3. 15t Finance Commission
Dr. Y.V. Qpiyg 15 augl H& @
(d) Dr. Vijay L. Kelkar 4. 12t Finance Commission
Dr. afigus L. Gadvair 12 aug HHs G
@ ®  ©© @
A 4 2 1 3
& 4 3 2 1
©C) 1 2 3 4
D) 1 3 4 2
6

In India GST came into effect from

@ndwreller glerevly ——————— PS5O HOL(PDMEE, UHSF)
(A) 1dJuly 2014
1 g9ewe 2014

(B) 1 July 2016
1 g9ea 2016

1 July 2017
1 gg9eme 2017

(D) 1 July 2015
1 g9a 2015
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committee proposed GST 1n India.
& Bpfureid GST ew eanrGnmfings.
(A) Rangarajan Committee
JIRJEIT TENERT (FH(LD

(B Kelkar Task Force Committee
Qadai Lemfls @

(C) Narshiman Committee
BISIDET (&

(D) Arjun-Sen Gupta Committee
2yfteg€eh — Glaahn @GHUST @y
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Components of GST are of
«f 3 types |

2 types
(C) 5 types
(D) Multiple types
(E) Answer not known
GSTuerr 2 éreT&sWD eremLZ)
(A) 3 awasuu@b
(B) 2 aiasiu@pbd
(C) 5 cuaasiL®W

(D) ue eumsL@L
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Match the following :

Qurmsgs
(a) C. Rangarajan 1.  13th Finance Commission
C. yaasyrger 13 augl HS &
(b) N.K. Singh 2.  14th Finance Commission
N.K.&m 14 aug HPs W
(¢) Dr.Y.V.Reddy 3. 15t Finance Commission
Dr. Y.V. Qpiyg 15 augl H& @
(d) Dr. Vijay L. Kelkar 4. 12t Finance Commission
' Dr. afigus L. Gadvair 12 aug HHs G
@ ®  ©© @
A 4 2 1 3
& 4 3 2 1
©C) 1 2 3 4
D 1 3 4 2
10

What 1s the period for the 14th Finance Commission has made its
recommendations?

eThg st LsSharar uflbgamrsamer 146ug HHEEW Wwaramausss ?
(A) 2013-2018 @ 2015-2020
(C) 2014-2019 (D) 2012-2017

11
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Who is the chairman of 15th Finance Commission?
(A) Y.V. Reddy

(B) K.C. Pant

&’ NXK. Singh

(D) K.C.Neogy

(E) | Answer not known

15 geug H1Hs @pefen g,@a}cﬁﬁ W ?

A) Y.V.Qpg
B) K.C.ups
(C) NK. &

(D) K.C. fiGwné

Q.Food Security

2_600T6) LIMGHISHITLIL
1
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National Food Security Act was introduced in the year

2 anrey UMgsmiLé sl b Qamemhieuriul L <6

A) 2012 ) 2013
©) 2014 D) 2015

4. With reference to the government’s welfare schemes. Consider the
following statements:

Sigemussslen pasil mismerd ubfl, Gereumb 2iflsmssamans sauaflyhisdr.
1. Under the Antyodaya Anna Yojana, the food grains are available to

the poorest of the poor families at Rs. 2 per kg for wheat and Rs. 3
per kg for rice.

pECUTsUT Serer Curgeam AlLgflar & semey grefluhisdr s
SEwukssila o sder gapsEnsg Cargmw SGan ganyés 2 munun, =Aa
HGeom gamisE 3 apumyh

2. Under the National Old Age pension scheme, the old and destitute
are provided Rs. 75 per month as Central.

Gsflu  pdCwrr  guabus Al sfar Bp  pdCurt  wpmb
asrapbormss m 70 wsdu guaflunrs, Gumburarer wrkle sirsse
kgl terassiEs mbigouns mgﬁ:ﬁuu@aﬂg@.

Which of these statements are correct?

Epssem smpmsefld erenau sflwrers

(A) 1only (B) 2 only
1 o G 2 wlifio
[C}v’ﬁuth 1 and 2 (D) Neither 1 nor 2
I womih 2 Erenhib 1 wpmo 2 @oana
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Which one of below is related to poverty alleviation programmes?
Yl eeu(meuaTalhmeT eTal eumieniy Swi senfliiys Sl fisaflen Agm i jen wig?
(i) The Nehru Rozgar Yojana
Grm Crmevsd Guimmert
(i) National social Asgistance programme
Cadlw spps 2 g6l b
(iii) Jawahar Gram Samridhi Yojana
geugnt Symb sbildl Cuinsert
(iv) Swarna Jayanthi Shahari Rozgar Yojana
aveauien Ggubdl sanmfl Grrevst Gumgernr

{A) (i) is correct (B) (ii1) is correct
(1) wi G sf (111} Wi FHib &M
(C) (1) and (ii) 1s correct 1), (i1), (iii) and (iv) are correct
@) wopid (i) »M (), (i), (i) wpgod (v) sf
4

“Work for food” scheme implemented by Central Government in the year
1972. This programme yearly provides

Caimas@ oameys Sibd wddu sgerd  1972-¢  QeromsiulLg.
@58 LgSHen cumulloons <y amgH@& HepLiLg
I. 10,000 tonne Wheat

10,000 et Gamgientouyd

II. 60,000 tonne Rice
60,000 e ofl&uyd

III. 10 lakhs Agricultural instrument
10 Qe s afleusmud &(mellsEnD

IV. Rs. 10 crore subsidy for marginal labour
10 Gamyg afeaflby flever Agmflewmenm @, wrealwnd

o 1,11

B) II, III
© II IV
M TV.1

5
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The food security has the following three components :

(1) Accessibility

(11) Alloeation

(111) Availability

(iv) Absorbtion

o amrey UMEISTUIL] TS &QMW@JL‘& PLOGET SnMySenaT 2 ararL Sdlig).
D =aiEso

(1) amssE

(ill) Slensse

(1v) = flgrasa

(A) (1), (ii) & (iii) (B}'ﬁ (iii) & (iv)
(C) (), (1) & (1v) (D) (1), (1) & (iv)

(E) Answer not known

P i PERN i YR PR R

Social Problems —Population, Education, Health,

1

i. The MGNREGA was first launched in the year

warsor smpd Csflw sags Geuemer 2 mifl LD (MGNREGA) g @pgedle
QTSI L. 60 [

(A) 2005
_B) 2006
(C) 2008
(D) 2009
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Match the following type :
(a) Integrated Rural Development :
Programme (IRDP) 1. 1983
(b) Training Rural Youths for '
Self Employment (TRYSEM) 2. 1980
(¢) National Rural Employment
' Programme (NREP) 3. 1979
(d) Rural Landless Employment
Guarantee Programme (RLEGP) 4. 1976

@ b)) (© (@
oM 3 2
(B) 2 4 1 .
©€) 1 3 4
D) 3 4 1
(E) Answer not known

B B W o

sflurer ellen_emw CaibOsHSe QLTBHSSS.
(a) e@hfmarss cars eearisdls
- S (IRDP) | 1. 1983

(b) ears @eeresisEréstar
&w Geauemeeumiiy Ludnél

(TRYSEM) 9. 1980

(©) GCsflwu 2aps Caume aumitiys
fn (NREP) 3. 1979

d) eags HewhHCori Ceume
amiuy 2 pdsd L (RLEGP) 4. 1976

@ ® © @

A4 3 2 1
By 2 4 1 3
1 38 4 2
D3 4 1 2
3
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0. Match the List I with List II and select the correct answer using the
codes given below

utgwed I woms ulgws T o Qurmsd G Ger@éssciul Gever sflumen
alenLan Ggiay Gais.

List I List IT
iy I uigg IT
(a) Employment generation programme 1. Minimum needs
programme
CeusneusumiliLy o (Heunsss Sl b emhs  wls  Gseneuser
LB
(b) Sacial Assistance programme 2. Swarna Jayanti Shahari
Rozgar Yojana
Fops o gmallls S b i s Heguwihs
FapmiErrevst Guimges
{c) Human Development programme 3. National Family benefit
scheme
wells Guburt G S b Caflw & HibL [EatTan Lo
- TR
(@ () (@
(A) 2 1 3

B) 1 3 2
(©) 3 0| LIS
Ow»? 3 1

(E) Answer not known
PR i R [y RS R iy

Which one of the following is not an employment generation programme?
Sleste meuameuhmia erg) CoueneveumiiliL] e (mauns@h Sl L b Glaome?
(A) Rural Employment Generation Programme (REGP)
oarys Ceuamaaumiiinyg S b (REGP)
(B) Prime Minister’'s Rozgar Yojana (PMRY)
Gysoi Gauemaeuriitiyg S (PMRY)
(C) National Food for Work Programme (NF'WP)
Gsflu Coummas@ 2 ammays L b (NFWP)
)}3) Jandhan Yojana

Bhgen gL LD
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The Current Employment trends are

(i) There has been a growth in part-time employment
(11) Increasing self-employment

(1i1) Full employment

(iv) Firms using fewer full-time employees and tending to offer more

short-term contracts
¥ (), Gi), Gv) only
(B) @i), (iii), (iv) only
(©) (), @), (iii) only
D) (), (i), @v) only
(E) Answer not known
shste Caumaamily Cursgsermeuar
1) usd Cor Caumaamiuube g euisdl Qmbs GBS
(1) oPsfsg aumbd sw-Geumaeumiiiy
(i) e Caume amity Haw

(iv) Ppeuariser g fo Bobsy gﬂt@uf’r&mm@u UU&TU®§§1§® LD;DQJLD @gueﬁlu.l
a&me @UUBSH uaflsener Smeugi. : .

@ G, Gi), (v) veeo
B) (i), (1), (iv) LG
©) (), @), (1i1) vLEW

@) ), (i), (v) o
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7
In India the NREGA came into force on

@rdureler NREGA STD BOL(PODES, UbHSS.

2 February 2006 (B) 28 April 1989

2 Qugeuf 2006 28 guged 1989
(C) 1 April 1999 (D) 2 October 1993

1 gugé 1999 2 osCGLrufr 1993
8

). Multidimensional Poverty Index includeg the indic’ators_excgpt;
.(A) Education - |
w Market
(C) Health
(D) Living Conditions
| '_(E) Answer not known
| | Laufwrer mgmm@@uﬁ@ ELp2 drem @;ﬁl&sm’_@aﬂ@ cra_lgj)@ﬁ) 2 dreTL_Gselvma?
() soal .
- (B) spos
(C) - a%&;ngrrmb
D) amps®s o
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Unit 09

S.Human RESOURCE Development
Lo6oflg euet Goum(y
1

The term ‘Human Resource’ refers to
‘wellg ecuerd’ ergb Qemed GNUIAGeug

(A) Investment on poor people (B) Expenditure on agriculture

genlp &&6T Bgren WPseSH Cauermammenwo Wgmen Qgavay
(C) Investment on assets Collective abilities of people
Qerggiser Bsren s L HCwrss waseflear Smeno
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Tamil Nadu 1s rich in
SOIDHIH TS GueTLOTETS) ?

(A) Forest resources

CUGT GUEITLD
6 Human resources

wallg e

(C) Mineral resources
S&fid GUeETLD

(D) Water resources
ST GLGTLD

district is not a district with low human development Index
in Tamil Nadu.

EANNELF 30, wreul L W&s @Gophs wealls euer Gubum(
G&MNEL g6 @evera.
(A) Theni (B) Nagapattinam
Caafl BT&LILIL 1§ GTLD
(C) Perambalur ) Ariyalur
QU@ <iflwgr
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The economy of Tamilnadu is the largest and most
populared State in India. . .
slppTiger  Qurmerraryd  @bHwurelless ———F—  flen Quilu  wHHID
—————— 285 wEsET QaraTL wrHleWTELD.
(A) 12th and Ttk (B) 13t and 5t

12 womin 7% 13 %% wpmyw 5%
v 11t and 6th (D) 10t and 4tk

11*% wpgw 6% 10%% whmpw 4 *2

is the state flower of Tamil Nadu.
sUIPBT .61 e waTrs olartEans.

(A) Jasminum grandiflorum (B) Curcuma longa

somavllenid &lyreairig olGermyid ST(&LOT ONEIGT
(C) Gossypium arboreum Gloriosa superba
sredfluQuid orGurfuwib &CarmflGar @uirum
F NAY 7. IS R Rt L. |

T. Women empowerment GILIGGUT& 61T SIS SITITLD
1
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Scheme to provide integrated support and assistance to
women affected by violence, both in Private and Public space under a
roof.
——— S, aagpapurd urflsiull QuarsErsstar ekdeaas
sgelilsaer Gupms sreags urdésoull Querser saefigss, warBlaw
Cuibur® s, Gurg wHpb sefun SimbLILEEsLer G GQEudufsda

(A) ‘SAKTHI (B)" SAKHT
&5 &4l

(C) ‘SHANTAM' (D) SANTHOSM’
ST #hGETaRD

(E) Answer not known
eflen Gsfwelldeanes

E.VR. Maniammaiyar Ninaivu Marriage Assistance Scheme is
implemented to help,

Fr.lau.gr. wesflwbewowrt Hlaeare; Spwen o gefl Sin, wnmEE e saasHE
suprastiLBdnsg ?

(A) Orphan girls
S, shenswpm 6 eirser
(B) Intercaste married couples
sl Smwen Fbugl
(C) Widows to remarry
silgeney wnueh Uhieushe
(D]\/ﬁaughters of poor widows
g elgameuls Quansaiar wadrserss

T € et s ok |
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; scheme for prevention of traffickine and Rescue,
Rehabilitation and Reintegration of victims of trafficking and
commercial sexual exploitation.
ggggbmgﬁmmum Quemssnemuily  sL&gumss sHE50, SLESLULL eutsenar

LALBase, sLsstul Go urdlua Gzmfdla rRUESSHILCL QuersErsEs

Wereuripay  Gar@ssed, Bamfle  snpsmuiCsr®  ampeusberer  @pena

2 heur&@sd apduaipenns Grudufdseshars o mardsliu L £l b

(A) Vatsalya (B) One stop centre
Vatsalya One stop centre
(C jjawala (D) Kishori Shakti Yojana
Ujjawala Kishori Shakti Yojana
(741 Ancwrar nat Fnaam
4

Which one of the statement 1s not true of “Beti Bachao Beti Padhao”. The
objectives of the schemes are?

fpsam “Cuan gpiasd urgsriy oppb soel” (Culy ussrGar Guiy
ugrGeur) eremp  spfld o5 cemawnwde: Sl sfar Crréshisarraneney
Epairminmmy

(i) Prevention of gender biased, sex selective elimination.
&(m Fry umellembd whpih urdlars Gafley flveanus sREs60.

(11) Ensuring survival of the girl child.
Glusir @whmsuien eurpeey = nd CBaiise

(iii) Ensuring education and participation of the girl child.
Quem @phenssster saell whmb uksefllusnu opdl Aalzsd

(iv) To provide only self — employment to women.
Auans@Enbe swblsnbld auphs e Galsd

(A) () and (ii) only (B) @), (ii), (i) only
() wpp (i) wcEw @), (i), (i) or o
(©) (i), (iii), (iv) only (DWA) only
(11), (111), (iv) WG (iv) wi b
5
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The Kavalan SOS App was launched by which Government?

(A) Government of India
'ﬁ Government of Tamil Nadu

© Governmeht of Kerala
(D) Government of Karnataké

(E) Answer not known

snauwar aeageren Qeudew abs irs JPPslILOSS g ?
(A) @,'Bﬁtu 2\ |

(B) sOPTH Sis

(C) Csgerr siys

(D) a;f’i;;ﬁrr_l._& ST

The free supply of sewing machine scheme in Tamilnadu is implemented
in the name of Ammaiyar.

suflpssdld, Baeasnrss asud BUBSnD ek S,

Sibenwwimt Auwiléd auwristul { aumdng.

(A}"/S;th iyavanimuthu
asHlwarenflapss)

(B) Dharmambal
SLOMDLITET

(C) Moevalur Ramamirtham
ppaugt grnmSlig b

(D) Muthulakshmi Reddy
(D

(E) Answer not lkknown
ailenL Qsfluailaama

7
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. 1. Government of India proposed a special scheme named ‘Sakhi’
which 1s a one stop cure centre.

@ndlu ersna apen@onfucuc Gerer dpoy Hiiwren  ‘sd erenug @y
Gl Anmasy fleuryemr ewwib

I1. Objective is to provide assistance to women affected by violence.
@sen  Gpréswnreans  eeTapenpuUTd  UTSEsUulL.  QuaTs@EhsE 2 sel
el med <z@h
Which of the above statement is/are true?
Cuhasehr_euhmer erhg aabmi(ser) sl

(A) Ionly

I e @b
(B)Vﬁ only

II o Gub
(C) TandlII

I mmmin 11

(D) None of the above
Gupasar erga)dlaame
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‘Empowerment of Women’ policy focus/s on
‘Queis@EpsE sidsrrwealsssn’ Qaraams Spsasamcupme seuanb CFissfng
(1) Poverty Eradication
aupieno @iy
(11) Micro Credit
Sl jereiler SL6T GuULPMIEGSD
(i11)) Women and Economic development
Quemser wHmd Gummerngry Guwum
(A) (@) only
(1) v Ew
(B) (ii) only
(1) wLEw
(C) (1) only
(111) wL_Eb
(1), (11) and (ii1)
(1), (i1) whmiw (ii1)
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. Tamil Nadu State Commission for women, a statutory body was
constituted to deal with the cases related to crime against women
QuemasenéE adyrar @homsar Gsriurer epd@amar lemlés sWODGTH
wrble wseflt e S basHILLLg.

Which of the following statements is/are true?
Gemeumpd sapmsaic sflureans s/ erena ?
I. It was adopted in the year 1993
@la 1993 Q& ghm&Qaseriiul g
II. It consists of a chair person and 8 members
B3 @m sl wHmb 8 e prilarisames Csran@dars

(A)V{only .

I @

(B) Il only
II b @

(C) Both I andII
I oo 11

(D) Neither I nor II
I wpmib IT @eéeama

U. Tamilnadu census
SLOIDS D&GET QG TENS &H61%H6& (B LIL|
1
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). Match correctly the Socio Economic indicators of Tamil Nadu and their
corresponding contribution as per 2011 census:
2011  &sdT QEres sersCs@udd  sllibemigdar  Fuost  GurmmarmsTrs
IS e b sudflar unsefiiemuyn sflursl Qurkssab.

Economic Indicators Tamil Nadu (2011 Census)
dummartsry Goluih sllpmrE (2011 sarsblafoy)
(a) Decaded Growth rate 13 48.40
ugsren( eusTirés alldlsih 48.40
(b) Sex ratio
(Female per 1000 males) & 946
umeler cldlsin
LTS P T e
arggenan Glusimger) 946
{c) Child 0-6 vears
(Female per 1000 males) 3. 996

@ypos (0-6) pemBacr
(<UD S ETSIEESE TEEENRT

Quamsar) 996
(d) Urban Population
Percentage 4. 15.61
BETULD wEsar Daras sgeis0 15.61
@@ @ @ (@
(A) 3 2 1. 4
(B) 4 1 3 2
©oOwi 3 2 1
(D) 4 2 3 .

P i I o |

district in Tamil Nadu has the highest population as per
2011 census.

2011 =yib e whser Gsreas senslarnienig, sOPHTT QD

wreulLsdléd @ifsnrer wigser Csrens o dreng

(A) FErode
rGrmH

(B) Coimbatore
Camunbyyggmi

(C)‘/Chennai

O gaianan

(D) Madurai
(D& N1

3

SYED youtube channel : https://youtube.com/@Syedexamqguidance
Telegram channel : https://telegram.me/syedtnpsc

124


https://youtube.com/@Syedexamguidance
https://telegram.me/syedtnpsc

is the Infant Mortality rate of {per thousand live births)
Tamil Nadu in the year 2018,

2oi8-Ea sllpssder @oias Bouy alfsh (1000 @Eobassdr SnlsE)

{A)V/l 5 (B) 14
(C) 34 (D) 44
(Y Avewar nnt Ernawn

Which state has the highest percentage of Urban Population in India as
per 2011 census?

2011 wssl Qsranss sans@s@uler uyg @bdwurelld fs ssaildls BsTUD
w&seT Agrensamws Qsmam wrblow erg) ?

(A) Kerala

Cayerm
Tamilnadu
IR

(C) Gujarat
GRS

(D) Maharashtra

OSTrEHL_ T
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Match correctly the Socio Economic indicators of Tamil Nadu and their
corresponding contribution as per 2011 census:

2011  w&sar Gsrevs sans@a@ubs sllpsmiger sppst Gur@eTig Ty
GHE LD seupilear ukiseftamuwn sflursd Aurmssean.

Economic Indicators Tamil Nadu (2011 Census)
Qummerngny @i sBlpeErE (2011 sansa@s@ i)
(a) Decaded Growth rate i 48.40
ussramp euaniss efiflsibd 48.40
(b) Sex ratio
(Female per 1000 males) 2 946
uneblen afilélgin
(<BLUGN LD 2, 6TE (615 (5
agsanar GlLerser) 946
(¢) Child 0-6 years
(Female per 1000 males) 3. 996

Gwims (0-6) =yarpse
(<l oy, 6ims(EHEE eThsanen

GlLigirseT) 996
(d) Urban Population

Percentage 4. 15.61

B&MILD wéser Gsras sseisb 15.61

(¢) Child 0-6 years
(Female per 1000 males) 3. 996
@obms (0-6) sy arBser
(pullyd yansERsE hsaman

GuermseT) 996
(d) Urban Population
Percentage 4. 15.61
BETULD WwEsET Qgrans agaish 15.61
@ O ©© @
A 3 2 : | 4
B 4 1 3 2
ovi 3 2 1
(D) 4 2 3 1
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The density of population in Tamilnadu as per 2011 census.

2011 wssaQsres sansQs@UAaTUG. SOPHTL 16T DEHET LI5S

(A) 450 persons per sq. km (B) 455 persons per sq. km
gg17 HCar BLL(h&E 450 BUTEET sgly HCom B L (5&@E 455 HUisET
(C) 550 persons per sq. km 555 persons per sq. km

sgy HGar BLL(h&@E 550 HUEET sgy HCom BLL(h&E 555 BUTSET

In Tamilnadu total literacy rate was in 2011.
20116 gllpETged Qurss eupssdey eldgrésmb ——— — @(MmBSS)-
(A) 60.33% ' (B) 70.33%
60.33% 70.33%
v’ 50.33% (D) 90.33%
80.33% 90.33%

8

In Tamil Nadu the lowest sex ratio has recorded in the district of
&) Vellore | R

(B) Cuddalore

(C) Nilgin

-(D)/i)harmapuri

(E) Answer not known
SIPBIL 1q.60 cr.r_'r;g,.mrrmf__l_tb.@wg;mlrw urellen e flsd Qaram@erers?
(A) - Geugit | ' ' '

(B) _asL_gmfr
©) godifl
D)  srwoyf
9
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district in Tamil Nadu has the lowest child sex ratio in
2011 census.

2011-1b wEs_Cgrens sarsdsGuleniy Hlss Gopbs Guhos urdar ldsn
Qarar_ 6lps wmeul L b

(A) ’é‘hem’ (B) Cuddalore
&l &L
(C}Wﬁiarmapuri (D) Ariyalur
siroyyfl < flwgorr
10

Which district in Tamil Nadu has the lowest child sex ratio as per the
census in 20117

(A) Madurai (B) Theni

(C) Vellore - F Cuddalore

(E) Answer not known

SUOPHTL I 2011 W&&TEST®S sasQaRUulanuy ahs WL LSHM GRhamsL
uneller g GH@PeuTs 2-eTeTF)?

Q) wzer (B) Gsafl

(C) Geugymi (D) s g

11

According to 2011 Census report, the density of population in Tamilnadu
1s

2011 sews@a®liy smpMeruig., SOIDETL g6 WESET G Tens QBmHEsD

OIGIEER

(A) 333 person per sq. km (B) 444 person per sq. km
333 puir @ g7 HComBr i 444 pui @ sg17 HComBLLT
555 person per sq. km (D) 666 person per sq. km
555 puir @ gg17 HComBLLi 666 pui e g5y HComBLLT

v.Tamilnadu river and dams

SLOILDS Ml LDHMILD HET6TUISH6NT
1
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. The tributary which is not in connection with Kaveri
sredfluyLer Qasmmiaoors Saear 54

(A) Herangi (B) Shimsa
Glamymdl Sibgm
) Eibani OYKolar
sLimefl Gameurmi
2 1 A R SR R o el VA Sl e

King Karikalan of Chola dynasty constructed a dam on River Cauvery. It

is known as
(A) Vaigai Dam

(B) Papanasam Dam

M Kallanai

(D) Sathanoor Dam

(E) Answer not known

sflsrd Gsmpar sreffliler GnIsCs sLgw S@amuier uwi eerar?
(A) eeaums Sienent

(B) umupren iement

(C) soemenr

(D) snssanit siment
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Kodiveri Dam is constructed across
‘Qarg Ceull yemen erhs pHullen EmIEGs s L LU [HeTerg ?
(A) Noyal River

Q@Bmiwe 2,m)

M Bhavani River

peumet <ppmi

(C) Cauvery River
amedlfl <ymi

(D) Thamirabarani River
smblyugentl <4m
4
The main aims of “Nadanthai Vaazhi Cauvery” scheme is
“BLpsmi eumfl sreilfl” eremm Y S Lglen GCrréswonang)
(A) Construct check Dams on Cauvery basins
sredM = nhler eugsmedle) SRLILIMETEET SL_(HS60
M Clean the River Cauvery
areilfl oynenm GrlenwL(issen
(C) Pollute the river Cauvery
sredfl <y henm Wr&HLHESFHe

(D) Link the river Cauvery with other rivers
sreflfl wymenm OHM S & (EmL_ 6o &) 6n e S s

V,Tamilnadu geography&LOL& LieNuTied
1
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The height of Anaimudi from the mean sea level is

&6 WL LSH(mbg emarpuiler 2 wirb;

(A) 2690 m usf 2695 m
2690 8 2695 8
(C) 2685 m (D) 2705 m
2685 8 2705 8

Tamil Nadu has a coastline of km.
e( 1076

(A) 656

(C) 1254 (D) 1300

(E) Answer not known |

SOPHTH £.15. sLpsey uGdHenwsd Qamedig(HéHna.
(A) 656 | B) 1076

(C) 1254 . (D) 1300

(F\ I‘\QI"I‘\I Orrﬂ...nQA\mn\
3

Which pair of district and waterfall is not correctly paired?

(A) Dharmapuri —  Hogenakkal
(B) Namakkal —  Agayagangai
@ Theni —  Kumbakkarai
(D) Coimbatore —  Siruvani

(E) Answer not known

Wereumeuameupmier @Dl Liu@Bib wreul b wHgb Birapsfssrer abg @aear
gilwrst QummssiiLLaldeme ?

(A) sy -  gCsarésd

(B) prwssd © - BT GEIMS

(C) GCsef | - (Gbusser

(D) Gamwbysgn = Smieumrenfl

4
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Which of the following Wild Life Sanctuary is located at Tirunelveli
District?

(A) Mudumalai Wildlife Sanctuary

{ Mundanthurai Wildlife Sanctuary

(C) Indira Gandhi Wildlife Sanctuary

(D) Point Calimere Wildlife Sanctuary

(E) Answer not known

Gereupeuareuppier hps euarallom sramrown  EnOpaGae wreul L
SIMLOHGICTETS) ?

(A) wswo aarelekiE sTaTTOWLD
(B) weanpgeop cuarelom@ srammowid
(C) @bfyrenpd cuarelenis sramra WD

(D) GCsmqwésenr euarellonis srarmewd
5

. Vattaparai waterfall 1s located in _district.

WOMEU L LD,

el L Curann Brefipsd mnhgaren

{A)/Kan yvakumari

HE LI (& LDIT

(B) Virudhu Nagar
Al¢h&I BT

(C) Then
Caerl

(D) Sivagangal
Heusiiens

X.Tamilnadu agriculture SLOILP& IUFTILILD
1
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‘Which of the following is wrong Statement?

(1) Tamil Nadu stands second in area and production of coffee next to

Karnataka.
(i) Coffee plants are grown only in the hills of Western Ghats.

(1) Tamil Nadu ranks second in area and production of Tea in India

next to Assam.
(A) () only
6 (i1) only
(C) (@) and (ii) only
(D) (@) and (iii) only
(E) Answer not known
Spsamn_apper seupter smpfloar @AOGGS.

@O  &rA 2 pusduier eiger urtuaeile sipr_sT LIRsHHEG <GS5 SODETE
@ram_mlLib s pg).

(i) Cupeg Agmidf wawsald LUEL smA LA LUESHpS.

(1) CsW¥es vWAGDL wuwmiy wHDL e HusHGd Gpdunele  wismD
wrflosdnE AESsULLLTs SBOPETH @ram_miLb adsdns.

A) () vrEw
(B) (i) wr@w
(©) () wpgud (i1) L Ew

D) () wppw [ii) wew
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In Tamil Nadu, Agri-Export zones are located at:
SUOIPBTL g, CoueTrarT-erHmIg LT OBISGET GTMkiE SIMLHGIETATET ?
(1) Hosur
PG
(11) Ooty
26rLIg
(ii1) Nilakottai
HlosCamenL
(iv) Madurai
gy
(A) (i) and (iv) . . (B) () and (ii) .
(11) whmiw (1v) (@) whmub (11)
(1), (1) and (iii) D) @), (1), (1ii) and (iv)
(1), (1) whmd (iii) (1), (1), (111) wHmb (1v)

Largest area of land is used to cultivate crop in TN.

SUPBM g —8— w2 pusHésns  fsn  urluetey  Hleb

vweTuGSsUU RS DS).
M Paddy
QBéb
(B) Sugarcane
&(HLbLY
(C) Groundnut

HlassL_ame

(D) Coconut

Cariismi

4
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The quantum of Groundﬁut production in Tamil Nadu is
()- About 7 lakh tonnes

(B) About 11 lakh tonnes

(C) About 15 lakh tonnes

(D) About 21 lakh tonnes

(E) Answer not known

FLOIDBTLIg60 Hlevs sLane 2 HusHuler oiera) ererer?
A) Hiissi 7 Lo Lemar

B) AliLgsiL 11 el g Lensar

0 frigsci 15 ém;mb L6nger

D) ﬁl_'_l_ggl;_l_ 21 QL&D L Gser

r—_— —

5
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Tamil Nadu is the highest producer of
(A) Rice and Pulse
6 Banana and Coconuts

(C) Coconut and Ragi |

(D) Banana and Puilses

(E) AnsWer not known

SOIDBITL Lg 6 &é\&?l.b' .o_mug'é,luﬁ@m QuT(mL&GerT
(A)  2fd wppib LEHY wmsseT

B) arey womb Csrismil

(C) Gsmsmis wpmid grd

(D) ey wHmbd LWL cuassdr
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International airports in Tamil Nadu are ' in number.
_(A)\/4 o (B 3 .'
© .2 S D1 '

(E) Answer not knOWn
" SUOPBHIL 1g.6) o drer uérénmi@ eflorer Bevaitiser ——c%@w |
©z D) 1

Which one of the following is wrongly matched?
SssaTsuhmier erg seumns Qurmssul(erers).

(A) Magnesite — Salem
TSI Geaid

(B) Molybdenum — Karadikuttam
LDTEDILl g GITLD HTig&EL L LD

(C) Iron Ore — Kajamalai
GmbLs g SITERTLOGH D

ignite — Kaniyakumari

adlsenarL_ Femer WL

: .
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Human Development Index is constructed on the basis of

I.  Life expectancy at birth
1I. Standard of living
III.  Educational attainments

IV. Morbidity

M I, IT and III are correct

(B) II and III are correct
(C) III and IV are correct
(D) I, II, III and IV are correct

(E) Answer not known

efls Gt Gé GG -£|c.pa_r@suéwa.|ﬂ)gue.h‘

2 (Heum&SLILIL (haTeng) ?

I  ampsmer (%u_u'_ &TeLD)
II. ampses E 1

III. se0ei 558

IV. Gprypp serevwo

@A) 1, II vpmo III &

B) II wpgw 1T &

(C) III wpmb IV &

D) I, IL, III wpmo IV &
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Y.Industry in tamilnadu

SLOILP&GSleL QFTLHIL
1

Which of the following is correctly matched?
Qemeu(peuareupmler ergy sflwurst QummbgHng ?

I. Karur —  Bus body building
&t Cumbg 2 Lemsl HbT
II. Thoothukudi —  Major chemical producer
15315 Ww&Ew @rerwer 2 HussH
ITII. Salem —  Steel city
Csad 6Too@ HSILD
IV. Erode —  Automobile spare parts
FGrr@ aurser 2 gflursmiger
(A) TandII ' (B) II and III
I whmo 1T IT whmob 11T
(C) andIV «®) 1,11 and III
IT wihmw IV I, IT whmb IIT
2

. In Tamil Nadu the knitted garments production is concentrated in
SWBIBET_d Wererasran. o husd oyflsbd o drer G)Lib

(A) Coimbatore
CamunbLysamt

(H%Firuppur
S

(C) Erode
rErTH

(D) Karur
SHARIT
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3

Choose the correct match :

QumpsswraTanss CsibOSMHES.

(A) Madras Refineries Limited — 1966
Quigmev &sdsfiy Heeown — 1966

(B) Bharat Heavy Electrical Limited — 1962
umyd Qaneld el Mésd SlQLL — 1962

(C) Madras Fertilisers Limited — 1968
Quigrev 2 g5@smflldarene Q@ — 1968

6) Ordnance Factory, Tiruchirapalli — 1960
uss Qsmfipsree, Hmsfgriuded — 1960

Which city is nicknamed as Detroit of Asia?
s ST Hwrelles QLrgmul erenm SewP&sLUIUBSDS ?

WChennai (B) Madurai
Qesaner LDZIGD [T

(C) Bengalore (D) Mysore
Q@ Liris e, LD T
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: Wh-o called Sivakasi as a Little J apan? -
(A awaharlal Nehru

(B) Gandhiji
- (C) Kamaraj
(D) Rajaji

(E) Answér not known
. AausTdenws “GLg grinme” Grmg am%pggmrru.lrrrr?

(A) geuaniord Co@

®) spfgd
(C) & sMOPTR -
D) @osgred

(n‘\ P o P r'l.—.ﬂ.. -.—-n‘:.\‘—-nc
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. Tamil Nadu is a leading producer of cement with manufacturing units
located at :

i Ariyalur, Virudhunagar,
2. Tanjavur, Chennai

3. Coimbatore, Tirunelveli
4. Pudukkottai, Madurai
(A) 1 and 4 correct m and 3 correct

(C) 2 and 4 correct (D) 3 and 4 correct
(E) Answer not known :

g,Lﬁ]%r_r; : @Lisefldy FAGlwemr gu_lmﬂﬁq Hlmieueniisener Camam®
@ Hapdlng). _ oy
1. eflwgnt, elmpgpst
2. sepFTeyl, Qsdranar
3.  Gsrwwusgnt, HHEpoGeuad
el ygEGarieL, gy _
(A) gamb prem@ & (B) qénmb eparmd &
(C) @rerdw pren@w &l (D) ewenmibd prangb &

In Tamilnadu which one of the following Industry is not a Union Govt.
undertaking?

guSlg; TL_lg 60 Geimeu(mid Qamfleasaefle Qe WwgHw S TETD
5‘ meTerLuL efldane

(A) Hindustan photo films
aflpgievgmer Gum GLmiadliben
(B) Neyveli Lignite Corporation
QpGaud) Hlassfl spsib
(C) Salem Steel Plant
Geoid @) (B 6Tea(F L)
@’ Tamilnadu Industrial Investment Corporation Ltd.,
sOPETH Asmfldr P BS spsD
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State Industries Promotion Corporation of Tamilnadu (SIPCOT) was
established in the year

sOLBTH s Asrfe waGamps swsw (SIPCOT) figeunur L syer@

(A) 1968 (B) 1970
1968 1970
1971 (D) 1980
1971 1980
9

3. SIDCO was converted into a public limited company in the year
SIDCO Qurgggien Hmpeuanons wIHOLILLL <2460

(A) 1970 1971

(C) 1972 (D) 1973
10

1s not an industrial developing Agency.

@8 @@ Asmhdgemn cuetisd Hneuand e ?

A) _TIDCO (B) SIDCO
MEPG (D) SIPCOT

11

SYED youtube channel : https://youtube.com/@Syedexamguidance
Telegram channel : https://telegram.me/syedtnpsc

143


https://youtube.com/@Syedexamguidance
https://telegram.me/syedtnpsc

B.M. Birla Planetarium, Periyar Science and Technology is located in
Quilwrr eyfledwe Gsmionru @ww G.eb. Gfor Cararmishd S@wbseTar

@b

(A) Tanjavur (B) Madurai
S(EHETaT =0l

(C) Dindigul (DWChennai
Slair(H& s Ol Fetnen e

(E) Answer not known
cllenL Qs flweldans

The town “Sivakasi” was fondly called as “Little Japan” by
flausnd pErb @ ‘GLly guLTer aear 2eTGuTh anpdseur

(A) Mahatma Gandhi (B¥Jawaharlal Nehru
waTSWLT &THS seuaniremed Cpm
(C) Indira Gandhi (D) Moraji Desai
@ndor bl Quomyredl GCgami
BN Kxessminieinndo Voo =
13
). Choose the right matches.
Epsar_aupner eflurst QumEssuul Heararanss Caibbs@és.
1. TANCEM - 1976
2. SIPCOT - 1965
3. TANSI - 1970
4. TIIC - 1949
(A) 1 and 2 are correct (B)1 and 4 are correct
1 wHmib 2 &l 1 whmib 4 &l
(C) 2 and 3 are correct (D) 3 and 4 are correct
2 whmb 3 &l 3 whmb 4 &l
14
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. Wind Energy potentials in TamilNadu are
BB 14 & STHD HDE auaTd 2 @rer G hiser
(1) Palghat Pass, Coimbatore
uressr® seameunll, Gamulbudgi
(ii) Shencottai Pass, Tirunelveli
GemiGam e & samaimis, £mepoGae
(i11) Aralvoymozhi Pass, Kanniyakumari
Y raaumniGoms sareari, sereaflumgof
(iv) Arupukottai Pass, Virudhunagar
SiBULE CarlenL sareumi, of(mgIpsT
Choose the correct one
sflurareupenps CairbGlsHEseyD
(4) @), @), (iv) B) (). (i), (iv)
©) (i), (i), (v) DY), (i), (i)
(E) Answer not known

15
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Assertion (A) : Tamilnadu is entirely dependent on rain for
recharging its water resources.

gapm (A) : SOPHM @ Bi Hlevser HFbdu WELWNS W@P@W
EMBGETOTS).
Reason (R) : The failure of monsoon lead to acute water scarcity

and Severe Drought in Tamilnadu.
sryertd (R) : SOPHT IGH Lme &M@ YW CuuwrELWTD FTent
LEGHED WHNID shenwwnear eupl & Hloeydlenng.
(A) (A)is True, (R) is False
(A).eM game (R) seum . .
) Both (A) and (R) are True and R is the correct explanation of (A)
(A) wpmd (R) @renphinw sf wpmbd (R) aarug (A)—s@ eflurer elerssid
(C) (A)is False, (R) is True
A) saum <emed (R) &l
(D) Both (A) and (R) are True but (R) is not the correct explanation

of (A)
(A) vpgw (R) @renpw efl weméd (R) eraiug (A)—pé@ sflunar elenésio
S,

16

Tamil nadu receives Maximum rain fall from period.

LB Iy 6» Sidlsiomer wenlp Cumple) CuBD smeib.

From October to December
216G muMel pHg) 19 FDUT auenT

(B) From January to May
soaeuiflufledl(mmg) Guo alent

(C) From June to September
eno6IT-6) @)(Hbgl GEiLbuT eueny

(D) August only
<2&e () LIS oL (HD

17
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. The Tamilnadu State has been divided into how many agro-climatic
subzones
sBOETH  wrflowrag assmar  Geuetrarr—sre Hlawsmer Caram,  gomemr
wearTLeomiserts Wssuul Hiererg ?

A) 11 m

11 7
© 9 D) 3
9 3

18
The industrial policy Resolution 1956 was adopted in order to achieve
the aim of

1956 b yarh Gzmfld Csmarenss STwrmad ahs @VEME ADLUFHETSE
SILOURSSULLL G ?

(A) Capitalism ‘6 Socialism
wsoraflggieid &S GULD

(C) Mixed Economy (D) All of the above
soUYLU QurmeTrgmyn Cuhamdu Sjemandgb

19
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. Assertion [A] :
&a Ml [A] :
Reason [R] :

smyewtid [R] :

The Small Scale Indﬁstry of India was ruined due to the
attitude of the Britishers '
Gflcgey e furarisellenr si@m@Gepwrd  QbHw
fApQsrfld wfipss!.

British Government declared the Policy of free trade in

the year 1833.

1833 ger® WAlgey Semusd goruldor euraflus
Qanearansemw Melssg.

(A) [A]is true but [R] is false

[A] &M eyemed [R] seugy
‘m' Both [A] and [R] are true; and [R] is the correct explanation of [A]

[A] womw [R] 8w @rarhn sfl wombd [R] adaug [Al-ephe@ sflwrer
cllar&smELb

(C) [A] is false, but [R] is true
[A] saum <yerred [R] &

(D) Both [A] and [R] are true, but [R] is not the correct explanation

of [A]

[A] wpmn [R] eéw @UaﬁT@m sfl. e [R] ererug [A] @ eflwmen

elleT& &6

20

3. Which of the following is/are correctly matched?
Epdsremusneuilleh eTg/erenau GlUMEASLLNE o aTaTg ?

1. Minimum Wages Act - 1949

Eanhsuls eardus SLLD — 1949
2.  National Textile Policy — 2000

Caflu meyells Aerarans — 2000
3.  Steel Authority of India Limited - 1968

Elidw erig Flpeuemd - 1968
4.  Workmen's Compensation Act - 1923

Wamblarartadr @unnie s b — 1923.
(A) land2 (B) 1and 3

1 whpn 2 1 wppns 3
(© 2and3 OYE and 4

2 whmb 3 2 whmih 4
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21

- Which 1s the correct criteria for declaring an enterprise as “Micro”?
Ppauersaar “@wstrm” adn sifldiughsnear sflurar sereGsmd ag) 2

(i) The investment in plant and Machinery does not exceed
Rs. 25 lakh

e wHnh GuibSrhsaldr wsdd 25 Qlssos sram s
(1) The enterprise should fall in the category of manufacturing sector
and not service sector
plpieuenorang e pusd seplear Wiela wrCuan@n Comes mamp o
Select correct answer by using the code given below:
GhlSHser apad sflurer sllenenw Gafla) Qeuis.

(&%) only ®) (i) only
(1) wi b (11) @b
(C) Both (i) and (ii) (D) Neither (1) nor (i1)
(1) wpgs (ii) @ryer i @rain () Bebenay
22

. Economic development will be sustainable only if it is pursued in a
manner which protects

Qummerrgmy  euetiddl Buss Hoowwrarsns @@éses G@er@mrrmrrm amss
Qgriibgl-s15g0 Guenr Coua(Hib

(A) The Energy
<bHDed
(B) The Agriculture

eSleugmuid

(C) The Employment

Ceuaned GumiiLiLy

) The Environment
SHDIEGPD
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. Inter-generational equality 18 ensured by

umbuany fdwren sngganh abs per(panpuid o nifl QauwiuGEDS)

(A) Industrial progress (B) Eeconomice development
GClgmiplhemena Gummerrsmy Guiburi
(C}/Sustainaiﬂu development (D) Economic growth
Blemeowiman GLobLim QUINRETISTY GueT T
23

Article 335 of the Indian constitution provides reservation
@pHu srflueawinfear 335 9fley QL @ss8l oL aghE euphEHDs 2
M In Government service for SCs/ST's

Ul gwe srdluleri/upni@quienis@ sirs uailsald
(B) Of seats in Lok Sabha for SCs/STs

ulgwe srduleri/urigguilanisg wasaraaiuier 9THHLHsg euld
(C) Of seats in Vidhan Sabha for SCs/STs

ulwe erfllert/uwrigyuiantsg s wapsHa NTHHHSsoub
(D) Of seats in Educational institutions for SCs/STs

uligwe srdlullert/Lipni@ g uianida@ sdell Hnpeuamtsaild

24

. Identify the article in the Constitution which provides reservation in
services to the scheduled castes and scheduled tribes for not being
adequately represented.

smpssUULL  bhnd  upRgyder wasesEs  Curgwrer  GrdBSss b
Glaerenoeny  srdwumanlSlear erhs m_u\ﬁu loy Grameasaie FLemsslgaar
euLptysElm 5.

(4) 331 (B) 332

(©) 334 (D455
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25

. I.  One of the reasons for the non-brahmin movement in South India
was that the brahmins took more advantage of modern education
and hence secured more government jobs.

Spmoemiaa  pelon seellullamd =idle B @LES@NT  |SEILL
oflsorer s Geaumo Guppeart ereug  Comwenit  sidersnt @ussn
(gemafl Bl wmeiled o (peuns enbEssE STraRTRSET® e

II. Therefore there were demands for reservation in government jobs
and educational institution

panslfamd, ops  Geamasdr  ohmn  sdel dpeamsefld @
asEsE_gharar Garllsmsser eugreundlar

Which of the statements is/are true?

Sletreumih smpmsetid aflwmang erg)/erenau ?

(A) [only |

| wi G
(B) 1l only

II we @i
(C}V{and 11

I inpmn 11

(D) None of above
Giomasere g e fldame

26
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Consider the following statements:

EpseTamid sapmsamens LNEEseay.

(1) Mandal Commission was appointed by Morarji Desai Government.
LT GUpael damwsss Gwryigd Caemi rembsLIELD.

(2) Reservation for OBC in Government services was implemented in

1993.
<rsmusy ueflselld @sr WHuBSsLLLCLIBSET QLpHEEH 1993-6
peLpanluBiSSIUL L g.

(3) Indira Sawhney Vs Union of India is a case on Reservation issue.
Qpdrr srseafl Vs geanflu wins eupss QL @5ss@ Astiuraisr@.

W_hich of these is/alg'e true?

Qeupdled erg)/erency 2 T LWITELD ?

(A) (1) only (B) (1) and (2) only

(1) wEw (1) wpmid (2) P
@& (), @) and (3) (D) (3 only

(1), (2) wpmb(3) " (3) LEEW

Z.Health Education in Tamil Nadu.
SLOIDBHITL 19.60 &HSHTHMJLD LOMHMILD &L
1

Home Based Care for Young Child (HBYC) was implemented in
Tamil Nadu, in the following Districts under Phase 1?

Blenh Bpbassenssrar elfHu urrefuy glon, sllpssda (psd sLLwrs,
6Tha Lomeul L usatla Gewdufissiiul g7

(A) Ramanathapuram & Chennai
ErrmoprsEyTd whph Gseranem

(B) Virudhunagar & Chennai
eflmanst whph Cedmmar

(C) Ramanathapuram & Salem
Grmoprgyrd whpbh Crab

(DWirudhunagar & Ramanathapuram
silpgIpsT WHgD ETToprsUTD

AT S e T S D
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Three-tier health infrastructure of Tamil Nadu comprise
SWpETH apepiiEE 2L Fa Sin e & &1 anl9d o tiflydrerena

{A}\/Hospitals, Primary Health Centres, Community Health Centres
O 5| EULDENETEET, ST FHETSTT Hlena WkISET, FHPSHD LIRS
(B) Industries, Hospitals, Schools
desmfdsd, wmisaineamersdr, Ldaflser
(C) Colleges, Hospitals, Banks
seafliadr, wmdse emanser, eubdser
(D) Hospitals, Medical Colleges, Banks
Lo gleinenaradr, InMmsga soanfisd, aundsdr
(E)  Answer not known

l83. How many features of the immunization programme issued by the
Central Government of India on 19% March 2020 are being actively
followed by the Government of Tamil Nadu?

Bpglwreild wiflu sperussstd 19 wrié 2020 ey Qeuefubiil, asgaar
Epmis sEOY sufwapsaas sullps s Sellpons’ deaupdl aumrsdps 7

(A) 6 (
6 9
(© 10 D) 12
10 12

M [ SRR S PR ——
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2. Assertion (A): The AMRUT 2.0 scheme has been approved till 2025-26,

inorder to provide water supply and sanitation services
to urban households.

aapmy (A) : paiiyp SfsEsss sersmmbd winb Guft ayheauas o nl

Getiaushars bms 2.0 Sl 2025-26 el GaLaLRSS
GUUSD safdsiul Herarg.

Reason (R) : One of the aims of Atmanirbhar Bharath is to make the

cities water secure.

amreamd (R) : speriy  @pflurciear  CprésnsEndr gémrer s@eris)

(4)

(B

©

(D)

BOTRSEREED GubT urgstiy Qerar_amaiurs §)mss60.

(A) 1s true but (R) is false

sapm (A) #f syemes smrerd (R) ey
oth (A) and (R) are true and (R) is the correct explanation of (A)

spm (A) wpps sryemd (R) afl, Cogus smpams (R) (A) smppsCann
shlwner eflardswnoneh

(A) is false but, (R) is true

amim (A) seug, swerme smpamd (R) &M

Both (A) and (R) are true but, (R) is not the correct explanation
of (4)

ampm (A) womd smeard (R) &f, aaméd amers (R) (A)smpmsCapm
silwrar eflerdsiwodie
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When was Ayushman Bharat Digital Mission (ABDM) launched?
W September 2021

(B) September 2022

(C) August 2021

(D) August 2022

(E) Answer not known

uegorer Lumgs el Lo Wagar (ABDM) eriGung QgmrusiiicLg? |
(A) QsuLwur 2021 |

(B) QeuLwbur 2022

(€) wymevr 2021

(D) <ysev 2022
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- When was Chief Minister's comprehensive Health Insurance Schem

launched?

(A) 9t January 2009

(B) 10th January 2009
(C) 9% December 2012
d 112‘511 January 2012

(E) Answer not known

wpeoawssiar slfleurar bmsgaus TGS S uGurg Cgm sl g

(A) 9 garauf 2009
(B) 10 gevaufl 2009
(C) 9 geduir 2012

(D) 11 geneuf 2012
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Integrated Child Development Services (ICDS) targeted at children upto
the age of ————— years.

pmadloaris @ubmgsd Cowur (& Csmeused (ICDS) ———— aumnulenar
GRbomgsmar Qa&aTss OameaEmLg).
(A) b years ?{) 6 years
5 Guuwig) 6 GuWIg
(C) 7 years (D) 10 years
7 euwig) 10 auwig)
7

In the below schemes, which is related to improve the nutritional and
health status of the children in the age group 0-6 years
Yemeu@md At misafldh etgy 0-6 euwg GWhgsefler carlL 55 WHOID &&ETSTY
flevovenw Cubu@sgieug Agrfureang) ?
W Integrated Child Development Scheme
RHuSamarbs GRbmssar auariFfls S ib
(B) National Rural Employment Programme
Caflw canes Ceuenen aumiiiyg S b
(C) Nutrition Programme
oan L §858 aUlpri@h S ib
(D) Mahatma Gandhi Rural Employment Guarantee Scheme
waMSLr &Thd 2ays Ceume 2 mdls b
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Arrange the schemes chronologically :

S Lmsamens sroaflasiug Simwss.

1.

«

(B)

(©)

(D)
9

Cradle Baby scheme

AT 136 Gp@sd S b

Tamil Nadu Mid day meal programme
SBOLETH wHu 2 are s HiL b |

Muthu Lakshmi (Reddy) Maternity Benefit scheme
510l g0 (Crliy) wstiGums S ib

Tamil Nadu Integrated Nutrition Programme
SWLETH RMhSamaThs ol L5556 S LD
2,4,8,1

4,2,3,1

3,4,2,1

3,4,1,2

The term “Missing Women” phenomenon occurs due to

“Queir @ar @iy’ eran QT § 2 (HeuTeUSH(EGS STTETLONGT GELHED
“r Preference for a son/male child

(B)
(©)

D)

10

D& DOV DT GHSEETar 69 (HLILILD
Inadequate data

Cungwren grey @deame

Women trafficking

QuUaTSHET SLGF0

Early marriage of girl child

Queair Gbamsulen fneuwig Smoeamd
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The main aims of Deendayal Antyodaya Yojana National Rural
Livelihoods Mission are

Sengwiner e Cungw Qurgernt - Gsdlw Ayroyp ampeursmyly  uesfluder
Wp&EwW Crrésnser :

(1) To reduce poverty by enabling poor households
umIL®WSE G®ODHS Jows GHbukismers (FwudubBSFusHE

@i1)) To develop profitable self-employment and skilled wage
employment opportunities
g gruwre su@gmfie whHpib Hnawwrer sl Goume uMILILSE 2 (HEITs

(111) To improve income and quality of life
QURLLTETLD LHMILD UTPEES rsag CububSS
(A) (i) and (i) only '
@) whpid (11)
(B) (i1) and (iii) only
(11) whmnd (iii)
(C) (ii1) and (i) only

(iii) wpmb (1)
-4{) (i), (ii) and (iii)

@), (ii) whmp (iii)
11

Which one of the following is launched to promote inter-ministerial,
inter-sectoral convergence to create gender equitable and child centered
legislation, policies and programmes?
WemeuHeuaTeUDMIGT 618 LI SOFFHRIGMETLD, LIQ Fmnasmenyh @ahlaambs
QewdurieL o marsdl umdlar FOSHUSOSUD, GSPHDSE®ET MLWIDTES
Qarer.  sLLmsmanyd Qaratenssemearyd FlLBs@ETLD  UGUUSDHSENS
BoeuiutLg?
(ﬁr Mission Vatsalya

UITEFOWIT @UISESLD
(B) Mission Shakti

#5648 @uisaid
(C) Mission Sambal

FOLO @SS
(D) Mission Samarthya

TISSHUT Qussd

12
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Which is/are true of the following?

SETRTUCUDDICT 6TE 2GR WMFI? SIDDF TME 2 GTEHLOWTETEME ?

(1) In 2005 the World Bank approved the Tamil Nadu Health System
Project
2005 Q& o2& and sOPETE FETETy  S@wLUY L EDE
uUsOaTSSS)

(1) The total cost of the project is Rs.597.15 crores
@& LsHer Qurss Qewey Qgrans ¢5.597.15 Gamy.

(ii1)) The involvement of World Bank in extremely advantageous
2 & euidufer FHUTH HsemTe| LWEIETTSTES 2 GTaTg)
A @G an(! (ii) only
(1) wHmb (11) wL Hb
(B) (i) and (iii) only
(1) wHmb (111) W Ebd
(©) () only
(1) wL@w
d (1), (i1) and (iii)

(@), (i) wHmw (111) S@arsg b

13
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Janani Suraksha Yojana 1s a
e SH&asn GuUImmenn eraig)

{AV’M aternity protection scheme
wsUEUN uTsETULS S b

(B) Free food for poor
TENLNE (@RS [Gleals o e

(C) Employment opportunity scheme
Geuanan eumiiigg S i

(D)} Free gas scheme
Blaaug erfleumys S b

14

15 to accelerate the sanitation coverage in rural areas so as to
comprehensively cover the rural community.
eretiug Slpmolyp wHsever eilfleunar (papuile 2 erersslu, Symolym
sanrsny esdlanw eflanreyuBdsb e HULnmElb.
(A)Airmal Bharat Abhiyan
Blimed Lmys <oySluime

(B) National Rural Health Mission

Cadlu oaryes &aranys S ib

(C) Accelerated Rural Water Supply Programme

sgsafasiu’ L gnimouner @Gy br dyrokisenés euwbign diib
(D) Pradhan Mantri Gramadoya Yojana

Arsw widil SyrCwrgwr Guirgenn

15
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Which is the health scheme, comprising of Indian medicines and
Homeopathy which was implemented to control and prevent the
Covid-19 pandemic in Tamil Nadu?

Qidu wEHEsET LHnw CapmACuruHmw o der sy s&TsMS S LTED.
Bz sUlppTigd GCsreli-19 QsmypGrreows sLEUUESSHDL, SHéseD
2 g6 dlemmen.

(A) State health mission
wrhle &STgrys S b

@ Arokkiyam
<2,Crrédlwubd

(C) Novel Corona virus programme
Grmeudd sCrrenm eeurey L ib

(D) Amma clinic
DIDLOT &&TSAT Hlenewitd

16.

The erstwhile Mid-Day Meal Scheme is renamed as

(A) UMANG
(B) Bhavishya
(C) POSCO

) PM-POSHAN

(E) Answer not known
phngw wHw 2 arey HLgdHer wmy QUi wrg ?
A) ewm -
(B) uaflaiguw
(C) GunrevGam
(D) PM-Guregen
17
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Choose the correct statement :
sflwurer oflsmasamws Csitey Calis.

Tamil Nadu Higher education Assurance scheme 2022 provides
sWIPBTH 2 wiswel 2 s HLib 2022 kGG :
(1) Financial assistance to the girls
wremells@ns@ Hf o g6l
(11) Financial assistance to the boys and girls
wrewreui wramellwmée Huged

(iii) Financial assistance to the third gender
-epeTmd UnllaTssealisEnse Hused

(iv) Financial assistance to the parents

QAupCoTmEE HHuzes
(A) (1) and (iv) (B) (11) and (iv)
@) wpmbd (1v) (11) wppb (Av)
{6 (1) only (D) (1) only
(1) w_Ew (11) wr_@Eb

18
As per the Census 2011, which district of Tamilnadu possesses the
highest literacy rate?

2011-yb parganr wESET QsTenss sensCsBUla Uy, SWIDBT G 6THS
wreul L s wflswrer soel alflssmss Qanam@ererg ?

(A) Chennai (B) Coimbatore
Qzeen e Camubys g

6 Kanyakumari (D) Namakkal
senaflwm@wl BTLD&S6D

19
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Tamil Nadu Integrated Nutrition Programme was introduced by

SOIDBT 1960 e(hhSlenaurhg 2earl L §&&g) SlL omeogy : 6L GET TG
< HlpsliuBédsiulLg).
(A) Dr. M. Karunanidhi
Dr. @p.smemrnhld
/B) Dr. M.G. Ramachandran
Dr. M.G. gnwéspslyer
(C) Dr. J. Jayalalitha

Dr. Qg. Gsguiaels
(D) Mr. C.N. Annadurai

S\(TH. C.N. exaremtigieny

20

The Maintenance and welfare of parents and senior citizens Act 2007, is
being implemented in the state with effect from

QupGorT wHND Pss GywdsErdatar ugmofliy wWHD BEFFLLL 2007
wrhlosHéd QeuduBssUULR, BOLWMDES b BT

(A) 26.09.2007

(B) 29.09.2007

& 29.09.2008
(D) 29.09.2009

Political parties and Welfare schemes for various
sections of people —

21
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Which pair is not related to Intensive Area Development Programme
(IADP)?
ahs UGS $a97 uEdH Cubur s A Lsg e ATy wg b ?

(A) Ludhiana in Punjab (B) Aligarh in Uttar Pradesh
gHwiren, LEHFTL sdeni, 2 85 GrGsew
v Thivuvaruyin Tamiladu (D) Pali in Rajasthan
SHmeunepi — sl HE umedl, FreeugTe
22

. The National calendar of India is
(A) Gregorian calendar
(B) Vikram Savanth calendar
(C) Hindu calendar
M Saka Calendar
(E) Answer not known

@bHwunefen CoAlw BTy . < GL.
(A) ARGsAwen Bt sm i |
B) Mspw FTQUHS HILGM Ly

(C) abips prismyg

(D) ssaumL prism iy
23
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. Match List-I to List-II and answer using the codes given
utgwed I g utgwe II 2 ar Qurmsss.

QarhissuulL ghHuhsmeas Qsrar®h e wef.

List-1 List-1I
L iguied-I uigwien-I1
(a) Recreational Town 1. Panaj
QumrsCuréE BaTwb ueTmed)
(b) Administrative Town 2. New Delhi
| Hlireuns Bayb L3 Q@QLeved
(¢) Industrial Town 3. Jameshedpur
. Qzmfiléd BSTw . QTDFL_LYT
(d) Religious Town 4. Madurai
&FLOW BSJLD LOGIenIy
@ ® @© @
A) 2 1 3 4
1 2 3 4
< 4 3 2 1
D) 2 4 3 1

24
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95. (1) In April 2008, Tamil Nadu Transgender Welfare Board was formed
as the nodal body to address the social protection needs of
Transgender.
gurd 2008 @ sWPEIE dophessd po aurflub deEhassEréstar
spsLungsmiys Gseesmar Hleops; Gealaugharer wssu S@bUUTS
2 (REUTESELULILL .

(i) The Board addresses the Social Protection needs of Transgender
people such as income assistance, housing, education, employment
and health care.
aumauml 256, 5L eusdl, shell, Caumeeamiiy wLHND SETHITL
urgsmiy Gurerp Cameusamar Hmprimssaiiar suwpsl urgsmdneE eurfub
Flenpey Qanflns).

(i) It is a platform to bring various section of the society and private
sectors together to discuss what can be done to address the basic
needs of transgender community.
dmprmssaiien @iylumLs Csmasamer Beape; Qi ererar GabLTD
ereny eleurdss sepssdar uaCan Wildla@uw, seflumt gampueramyub
qeThlanad@id ¢(p SaTh (@5

Which of the above statements is/are true with regard to Transgender
Welfare Board?

25
Which of the above statements is/are true with regard to Transgender
Welfare Board?
Smpremssed po eurflub Asn_iurs Cupsar shnselld o5 o arann?
(&) () only @V, (i) only
(1) v (1), (1) wLEw
(C) @, (iii) only (D) (1), (1) only
(1), (111) wPw (i1), (i11) wi @b
26
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. Which of the following is true about the Abolition of Bonded Labour
System?

Hemeumeuareudiles Qamrssgenn @iitiyapenns Sl sdld e o amenDLITETENGY
DEEVG] 6T D_GHTENLOW TEg) ?

(1)

(i1)

(A)

(©)

(E)

27
i

28

®

(i1)

Persons kept as bonded labour are released and rehabilitated by
providing financial assistance of Rs. 20,000.

Qargsuewserns e@aussuulL  pufsdsr alRellssuullp  wraflwwbrs

th. 20,000/~ flfl 2 s6fl supid wyempe seflsstiu@prisar.

House site pattas, drinking water and Bank loan assistance are
provided to them.

QaursEns@ L@ weer ulLm, bt eusd wHmb erdssier e gek
cupmELUBHSng.

(1) only {Bi"(i) only

(1) wC @b &M (11) w Gb &

(1) and (ii) true (D) (i) and (ii) false
() wpps (i) o (i) womo (i) soup

Answer not known

Tamil Nadu Slum Clearance Board set up to improve the lives of the
poor.

gapsaian aumbdmseny GobUBss sELENE @eesiugd wrhm eurflun
=B EDEELILIL L)

It is now known as Tamil Nadu Urban Habitat Development Board.

@s sHGurs sBpErl EsiuDp  eumpell  Cwobuml®  emfuth ey
2enp&sULEEng

(1i1) It provides housing for all in Urban areas.

pafynhsaild moemamsEt i auptisdnsg.

Which of the above statement is/are true with regard to Tamil Nadu
Slum Clearance Board? ) Y :

sl pETh Guesougd wrhn erflubl Asm furs Cupmly auflsmsselda ag

o_ehiranin 7
(A) (i) only (B) (1) only
(i) wGm (ii) wiGib
{C}\/&} and (i1) only (D) (ii) and (iii) only
(1) whmb (1) wGn (i1) whmid (1) we G
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l. What basic need does IAY fulfill?
IAY, ereévan wigoivens Gsmeaw Wisd Gaudpg 7

(A) Water (B) Clothing
SEmen i ShEnL

(Mnusing (D) Food
i) £_anray

(E) Answer not known
afilen Gsilwsfldema

el

The major objective of Pradhan Mantri Krishi Sinzhayee Yojana
(PMKSY) is to achieve

Glgsw whdfl Afd Heemd A sfer (PMESY) Cprisn, aes =eniiu
Geue(pib 7

{Miore crop per drop”
geublaumey gaflésn gls Lln

(B) Agricultural credit available to farmers
imensg efleusriisEni@h efleusmus s g

(C) Crop Insurance
Uuilis srodm

(D) Crop Improvement
Ll euariédl/ openGarbmob

29
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Which was the first state to establish Third Gender Welfare Board?
ppemmmd ureller mev eunflugans flpeflu (psd wrflan g 7

(A Tamil Nadu (B) Karnataka
D ETH SMETLSLD

(C) Kerala (D) Maharashtra
Garenb LD T T 6alg. [T

(E) Answer not known
aflen GlsMwelldene

The statutory body which is constituted to deal with the cases related to
crime against women is
CusnsEnébadiyrer @opb Gamfurar eupsEsamear aisrflss Hpmeuluc sl
flwuner sienwoliny ———— =y sib.
(A) State Resource Centre for Women

wrfle Eudradr euer annwlb

{B)\/State Commission for Women

LDMHIG D& yenemTiLiLh
(C) One Stop Crisis Centre

@G Blpgs Gpmbss enowib
(D) Mahila Sakthi Kendra
\ndlenm s&E Gamglmm

e .

30

Which of the following schemes was funded by World Bank?
Epssrgmh Sl misgneat, ohss Sl sfo, ces andldar  flfused

QILpRIGLILIL L i 7

(A}‘/Pudhu Vazhvu Scheme (B) Amma Scheme
UGl aumpey Sl ih 2ibwor S b

(C) Cradle baby Scheme (D) Meetpu Scheme
Qs Guhns S By S
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